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UGC NET 2021 Geography SH1

Topic:- Geog_SH1_Set1_A

1)

Which one of the following methods is used by researchers for reducing ‘biasness of scale’
while compositing several indicators?

(1) working out percentages and adding them together

(2) adding actual values of all indicators

(3) segregating positive and negative indicators

(4) dividing the values of indicators with their mean values
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[Question ID = 301][Question Description = Q1_Geog_SH1_Set1_A]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]

2)
Which one of the following 1s not a process of cultural change?
(1) Aeculturation (2) Diffusion
(3) Innovation (4) Segregation
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[Question ID = 302][Question Description = Q2_Geog_SH1_Set1_A]
1. 1 [Option ID = 1205]
2. 2 [Option ID = 1206]
3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]

3)
Which one of the following depicts correct demographic equation of population growth?
(1 Natural increase and dependency ratios
(2) Natural inerease and net migration

(3 In-migration and birth rate
(4) Out-migration and death rate
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[Question ID = 303][Question Description = Q3_Geog_SH1_Set1_A]
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1 [Option ID = 1209]
2 [Option ID = 1210]
3 [Option ID = 1211]
4 [Option ID = 1212]
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4)
In which one of the following water bodies the salinity 1s lowest?

(1) Great salt lake (2) Dead sea
(3) Lake Van (4) Gulf of Earabugas
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[Question ID = 304][Question Description = Q4_Geog_SH1_Set1_A]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]

5
) The phenomena of wind gap is associated with :
(1) Glacio-fluvial eroison {(2) Lateral erosion by river
(3) Head ward erosion by river (4) Glacial planation
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[Question ID = 305][Question Description = Q5_Geog_SH1_Set1_A]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
4. 4 [Option ID = 1220]

6)
A researcher wants to study the relationship of family size to income. He/She classifies

population into different income slabs and then takes a random sample from selected slabs.
Which one of the following techniques 1s he/she working with?
(1) Cluster sampling (2) Random sampling

(3) Stratified random sampling (4) Systematic sampling
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[Question ID = 306][Question Description = Q6_Geog_SH1_Set1_A]
1. 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
3. 3 [Option ID = 1223]
4. 4 [Option ID = 1224]

7 . . . . .
) Who among the following formalized the concept that there exists relationship between the

epatial oreanization and National development?



(1) Friedmann (2) Dickens
(3 Kuklinski (4) Luten
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[Question ID = 307][Question Description = Q7_Geog_SH1_Set1_A]
1. 1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]
4. 4 [Option ID = 1228]

? Which one of the following indicates a population pyramid with wide base narrowing as the
age Cohorts progress?
(1) High fertility rates and low mortality rates
(2) Low fertility and low meortality rates
(3) High fertility and high mortality rates
(4) High fertility and high age specifie fertility rates
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[Question ID = 308][Question Description = Q8_Geog_SH1_Set1_A]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]

9)
Which one of the following term is used for the distance between trough to crest of a wave?
(1) Wave trough (2) Wave velocity
(3) Wave height (4) Wave period
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[Question ID = 309][Question Description = Q9_Geog_SH1_Set1_A]
1. 1 [Option ID = 1233]
2. 2 [Option ID = 1234]
3. 3 [Option ID = 1235]
4. 4 [Option ID = 1236]

10) The San Andrean Fault i1s an example of
(1) Transform fault (2) Converging fault
(3) Spreading fault (4) Subduction fault
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[Question ID = 310][Question Description = Q10_Geog_SH1_Set1_A]
1. 1 [Option ID = 1237]
2. 2 [Option ID = 1238]

3. 3 [Option ID = 1239]
4. 4 [Option ID = 1240]

11)
Which one of the following group of states/U.T. in India recorded low sex ratio as per census

2011 data?

(1) Tamil Nadu, Uttarakhand, Himachal Pradesh. Haryvana
(2) Jharkhand, Rajasthan, Odisha, West Bengal

(3 Manipur, Harvana. Goa. Uttar Pradesh

(4) Sikkim, Haryvana, Jammu and Kashmir, Gujarat
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[Question ID = 311][Question Description = Q11_Geog_SH1_Set1_A]
1. 1 [Option ID = 1241]
2. 2 [Option ID = 1242]
3. 3 [Option ID = 1243]
4. 4 [Option ID = 1244]

12 Gk
) Stop and Go determinism was propounded by
(1) F. Ratzel (2)y G. Taylor
(3) ANV. Humboldt (4) J. Brunhes
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[Question ID = 312][Question Description = Q12_Geog_SH1_Set1_A]
1. 1 [Option ID = 1245]
2. 2 [Option ID = 1246]

3. 3 [Option ID = 1247]
4. 4 [Option ID = 1248]

13)
The present day spatial distribution of Buddhism is highly concentrated among which of the

following group of regions?

(1) China. Tibet, Korea, Siberia

(2) South East Asia, Tibet, Mongolia, Japan
(3) Northern India, China, South East Asia
(4) Tibet, India. Middle East. Japan
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[Question ID = 313][Question Description = Q13_Geog_SH1_Set1_A]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]

14)
Which one of the following statements was not considered by Malthus while stating

Malthusian theory of population growth?
(1 Food supply will increase in arithmetic proportion while population will increase in
geometric proportion

(2) With increasing population food scarcity will increase. resulting in high death rate of

population
(3 Development of technology leading to increasing food production

(4) Peaple will suffer from malnutrition resulting in high death rate
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[Question ID = 314][Question Description = Q14_Geog_SH1_Set1_A]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]

15)  The per minute solar radiation received on one centimeter square at the outer surface of a
plane is
(1) Convection (2)  Solar constant
(3) Absorption (4) Reflection
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[Question ID = 315][Question Description = Q15_Geog_SH1_Set1_A]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]

16)
Yardangs are the creation of erosion by

(1) Fluvial (2) Aeolian
(3) Karst (4) Glacial
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[Question ID = 316][Question Description = Q16_Geog_SH1_Set1_A]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4. 4 [Option ID = 1264]

17)
Which one of the following group of State/UT recorded very high population growth rate

during 2001-2011 as per data given by census of India?

(D Andhra Pradesh, Meghalaya, Himachal Pradesh Tripura
() Mizoram, Sikkim. Goa, Bihar

(3) Bihar. Jammu and Kashmir. Goa. Dellu

(4) Bihar. Jammu and Kashmir, Meghalaya. Mizoram
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[Question ID = 317][Question Description = Q17_Geog_SH1_Set1_A]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

18)
Who among the following scholars coined the term permafrost?
(1) Ritter (2) Humboldt
(3) Agaziz (4) Ramsay

facferfiaa o e fagm 3 ‘gufwre wee 6 =1 e

(1) e (2) B

(8)  unrHTH (4) =

[Question ID = 318][Question Description = Q18_Geog_SH1_Set1_A]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

19 : S
) Which of the following 12 a renewable resource?

{1) Metal ores (2) Natural gas

(3) Fuel Cells (4) Fishes
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[Question ID = 319][Question Description = Q19_Geog_SH1_Set1_A]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]

3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]

20) . . .
Lateral planation theory of pediment formation was propounded by

(1) W.M. Davis (2) Von Richthofen

(3  G.XK. Gilbert (4) C.Darwin
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[Question ID = 320][Question Description = Q20_Geog_SH1_Set1_A]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]

21)
‘Rally for valley' program in India was organized to highlight the problem of —

(1) Environmental degradation (2) Biodiversity

(3) Eesettlement of displaced persons (4) Loss of agricultural land
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[Question ID = 321][Question Description = Q21_Geog_SH1_Set1_A]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]

3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]

22)
Who among the following developed the coneept of “Mental Map™?

(1) P.Gould. R. White and Lynch (2) Humboldt, Ritter and Paschel
(3) Semple and Huntington {4) Boulding and Hagerstrand
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[Question ID = 322][Question Description = Q22_Geog_SH1_Set1_A]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]

23)
Using the ‘locational triangle’, the concept of the ‘least transport cost location’ was
mtroduced by
(1) Walter Isard (2) M.E. Bandman
(3) D.M. Smith (4) Alfred Weber
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[Question ID = 323][Question Description = Q23_Geog_SH1_Set1_A]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]
3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]

24)
Which one of the following industries generates highest amount of waste water in the Ganga

mm U.P.?

(1) Chemical

(2) Pulp and Paper
(3) Sugar

(4) distillery
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[Question ID = 324][Question Description = Q24_Geog_SH1_Set1_A]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]
3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]

25)
Which one of the following refers to the mature stage of a thunderstorm?

(1) Electric tension between oppositely charged areas
(2) Sudden onset of rain
(3) Absolute instability

(4) Slackness of energy
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[Question ID = 325][Question Description = Q25_Geog_SH1_Set1_A]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]

26)
Which one of the following frequency distribution is negatively skewed?

(1) A 2y B

@ C (4 D

Mean
fayfafiaa 4 o @ v SEER 929 TR ¥ § U 27

(1) A 2) B

@ C 4 D

ar=

[Question ID = 326][Question Description = Q26_Geog_SH1_Set1_A]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

27)
Geo- Strategic model in political geography was propounded by:

(1) Spyvtman (2) Saul Cohen



{3) John Short (4) John Agnew
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[Question ID = 327][Question Description = Q27_Geog_SH1_Set1_A]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

28)

Which one of the following is incorrect about agro-industrialization —

(1) Needs large agricultural farms
(2) Low labour input per unit of production
(3) Highly qualified managers

(4) Less use of chemical fertilizers and pesticides
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[Question ID = 328][Question Description = Q28_Geog_SH1_Set1_A]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]

29)

What iz the total duration of time required to complete the two cycles of high and low tides
at any place?

(1) 24 hours (2) 12 hours
(3) Less than 12 hours (4) More than 24 hours

fepeft Torm w3 oilt e wan & &) w6 Pl A & T e Teadl samafe ) sragyea 2 27

(1) 2492 (2 129
(3 129 Yy (4) 24 = 8 HAfys

[Question ID = 329][Question Description = Q29_Geog_SH1_Set1_A]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]



3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]

30)
The first meteorological satellite was
1) TRMM (2) TIROSI
(3) MODIS 4) NOAA
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[Question ID = 330][Question Description = Q30_Geog_SH1_Set1_A]
1. 1 [Option ID = 1317]
2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]

31)
In any thematic map. which of the following methods are used to record presence of
phenomenon; its spatial pattern, distribution and dispersion
(L) Isopleth Mapping (2) Isoline Mapping
(3) Choropleth Mapping (4) Dot method mapping
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[Question ID = 331][Question Description = Q31_Geog_SH1_Set1_A]
1. 1 [Option ID = 1321]
2. 2 [Option ID = 1322]
3. 3 [Option ID = 1323]
4. 4 [Option ID = 1324]

32)
The most important factor responsible for localization of high-tech firms in silicon valley of
California is
(1) Cheap Labour {2) Access to the market
(3) Agglomeration Economy (4) High speed tranzportation
fABIa1 & faferdm defl § T=-grnfrh Foim & wrEw & fou Ied qaifs g siF
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[Question ID = 332][Question Description = Q32_Geog_SH1_Set1_A]
1. 1 [Option ID = 1325]
2. 2 [Option ID = 1326]
3. 3 [Option ID = 1327]
4. 4 [Option ID = 1328]

33)

In four stages of demographic transition theory. the stage in which birth rate continues to be
high but death rate declines rapidly. 1s :



(1) Stage 4 (2) Stagel
(3) Stage 2 (4) Stage 3
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[Question ID = 333][Question Description = Q33_Geog_SH1_Set1_A]
1. 1 [Option ID = 1329]
2. 2 [Option ID = 1330]
3. 3 [Option ID = 1331]
4. 4 [Option ID = 1332]

34) Belize barrier reef is located between :

I'{1]1 Mexico and Cuba (2) Jamaica and Honduras

I[3) Mexico and Guatemala ‘ (4) Mexico and Bahamas
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[Question ID = 334][Question Description = Q34_Geog_SH1_Set1_A]
1. 1 [Option ID = 1333]
2. 2 [Option ID = 1334]
3. 3 [Option ID = 1335]
4. 4 [Option ID = 1336]

35)
Singularities pertaining to recurrence of anticyclonic weather are associated with which area
of the globe?
(1) South Asia (2) North America
(3) Britain (4) Australia
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[Question ID = 335][Question Description = Q35_Geog_SH1_Set1_A]
1. 1 [Option ID = 1337]
2. 2 [Option ID = 1338]
3. 3 [Option ID = 1339]
4. 4 [Option ID = 1340]

36)

Which one of the following rivers is not a tributory of Yamuna river?

(1) Giri river (2)

Tens river

(3) Bata river (4) Tangri river
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[Question ID = 336][Question Description = Q36_Geog_SH1_Set1_A]
1. 1 [Option ID = 1341]
2. 2 [Option ID = 1342]
3. 3 [Option ID = 1343]
4. 4 [Option ID = 1344]

37)
Geography in 17 volumes was authored by :
(1) Ptolemy (2) Ritter
(3) Strabo (4) Aristotle
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[Question ID = 337][Question Description = Q37_Geog_SH1_Set1_A]

1. 1 [Option ID = 1345]

2. 2 [Option ID = 1346]

3. 3 [Option ID = 1347]

4. 4 [Option ID = 1348]

38)
Who among the following scholars examined the regional and geographical implications of
growth pole theory earlier propounded by perroux?

(1) Gunnar Myrdal (2) John Friedmann
(3) A. O. Hirachman (4) J.Boudellie
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[Question ID = 338][Question Description = Q38_Geog_SH1_Set1_A]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]

3. 3 [Option ID = 1351]
4. 4 [Option ID = 1352]

39)

Whe among the following conceived the idea of shipping canal between India and Srilanka?

(1) F. Luna Leopold (2) L. Farrell
(3) A. D. Taylor (4) C.d. Barrow
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[Question ID = 339][Question Description = Q39_Geog_SH1_Set1_A]
1. 1 [Option ID = 1353]
2. 2 [Option ID = 1354]
3. 3 [Option ID = 1355]



4. 4 [Option ID = 1356]

40)
Which of the following local winds are not related with drainage winds?
(1) Bora (2y Mistral
(3) Santa Ana (4) Rossby
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[Question ID = 340][Question Description = Q40_Geog_SH1_Set1_A]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4. 4 [Option ID = 1360]

) Advocates of Humanistic geography among the following are :
(A) Harris
(B) Blache
(C) Guelke
(D) Ratzel

(E) Ley and Samuels

Choose the correct answer from the options given below :
(1) (B). (C) and (D) only

(2) Q). (B)and (C) only

(3) (A), (C) and (E) only

4) (C) and (D) only
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(4) e (C) 3 (D)
[Question ID = 341][Question Description = Q41_Geog_SH1_Set1_A]

1. 1 [Option ID = 1361]
2. 2 [Option ID = 1362]



3. 3 [Option ID = 1363]
4. 4 [Option ID = 1364]

42)
Identify the processes of vorticity :

(A) Acceleration

(B) Frictional influence
(C) Roughness

(D) Rotation

(E) Angular velocity

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (C) and (D) only
(3) (D) and (E) only

(4) (A) and (E) only
wieral 1 wfskmat &1 yaaH *i
(a)

(B)  =HUEHS THTE

(C) e
@)
(E) i 9

il fau o famedi 8 @l 3 =1 = i
1)  FHad Q) 30 (B)
(2)  &ad (C) 3 (D)
(3)  had (D) 311 (E)
(4)  Had (A) 3R (E)

[Question ID = 342][Question Description = Q42_Geog_SH1_Set1_A]
1. 1 [Option ID = 1365]
2. 2 [Option ID = 1366]
3. 3 [Option ID = 1367]
4. 4 [Option ID = 1368]

43)
The theory of plate tectonics does not help to explain the origin and location of which one of
the following?

(A) Mountain systems, major sea floors, earth quakes
(B) Earthquakes and major sea floors

(©) Ocean currents. climatic zones

(D) Earthquakes and mountain system

(E) Earthquakes

Choose the correct answer from the options given below :



(1) (A) and (B) only
(2) (C) and (D) only
(3)  (C)only

(49 (&) and (E) only

vz TRl gt FeieiEn § | e/ e sl st T e O S w
FAI BT

(A) vEd A, U9E UG SHUE, Y

(B)  YHT N UHE HH HUEAA

(C) = um, oA 5

(D) JF 3 A

(E) 9y

(1) a1 (A) 77 (B)

(2) I (C) (D)

(3)  =aw (C)

(4) === (A) F#(E)
[Question ID = 343][Question Description = Q43_Geog_SH1_Set1_A]
1. 1 [Option ID = 1369]
2. 2 [Option ID = 1370]

3. 3 [Option ID = 1371]
4. 4 [Option ID = 1372]

44)
Which of the following natural characteristics are assoclated with dry monsoon forests of
India?

(&) Annual rainfall is below 50 em

(B) The trees have short roots

() Conditions remain favourable for plant growth throughout the year
(D) Thorny shrubs and grasslands are found between the trees

(E) Mango. Mahua. Sisam. Keekar ete. are the prominent trees

Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (C) and (D) only
(3) (B) and (C) only
(490 (D) and (E) only

feferfiaa § & ®R-8 wifas @ yra & e Fae 94 | gefad 27
(A)  arfdes awi 50 i, | w8 E 21

(B) & & J2 B Al 2

(C) i i afg & fere g ad gfdefoal sHEs wd 2|

MY "5 & = e mnteat ity orarers oo 3t 3



Lo A

(E)

LA T W Ase T NOANAE TR T OUNTR TOREE R RN e A e R b DY

S, He 1, sftem, et snife Jal & e ge Al

i fau e famedi & g8 30 #1 W= Fifsr

(1)
(2)
(3)

(4)

%ad (A) 31 (B)
Hdd (C) 311 (D)
Fael (B) 3 (C)
el (D) 3T (E)

[Question ID = 344][Question Description = Q44_Geog_SH1_Set1_A]
1. 1 [Option ID = 1373]
2. 2 [Option ID = 1374]
3. 3 [Option ID = 1375]
4. 4 [Option ID = 1376]

45)

Which of the following statements are incorrect about the origin and growth of international

tou

(A)

(B)

(©)

(D)
(E)

rism industry?
Thomas Cook arranged the first package tours in 1841, taking travellers from
Leicester to Loughborough in UK.

The growing appreciation for variety in the cultural landscape in large European
cities such as Paris, Rome and London among tourist and other citizen played a role

in expansion of tourism
The end of world war II provided the greatest impetus to tourism
Jet plane failed to herald the new era in International tourism

Boeing 747 in 1970 did not attract much international tourism

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4

(&). (C) only
(C). (D) only
(D). (E) only
(B). (D) only

SRS T FEm % A 3in fawm | wefta faafafiga 4 9 96-8 %ua sme 80

(A)

(B)

(©)
D)
(E)

ofi9d & 4 1841 H ggell Uha sl & wag fhn fomd anbei 1 2.5, o e 4 e @
ST T

P, 1M S Sed S @2 ZidE & grslad aigen Fi fafaya 0 dewl @ @ el
& "edl fgeraedt 3 wdza & van 4 v furg)

fadra fava gg 61 wnfh 3 wica i waffos i yem 6

SAEEE wen w1 e faum s

1970 5 =g 747 ® Al gy wie T8 faen)

1= fou o fasedi @ | 39 &1 994 b -

(1)
2)
3)
(4)

%ael (A). (C)

%de (C). (D)

%ge (D). (E)

Fad (B), (D)

[Question ID = 345][Question Description = Q45_Geog_SH1_Set1_A]



A W N -

46)

1 [Option ID = 1377]
2 [Option ID = 1378]
3 [Option ID = 1379]
4 [Option ID = 1380]

Consider the statements about currents in Indian Ocean

(4)

(B)
(€)

D)
(E)

North of equator, the formation of ocean currents i1s not influenced by the changing
nature of the monsoon wind system.

Somall current 1s the warm current of Indian Ocean
Somali current 1s the cold current of Indian Ocean
Peru current 1s a ecold current of Indian Ocean

North-Equatorial current of Indian ocean disappears in the months of August and

September

Choose the correct answer from the options given below ;

(1)
(2)
(3)
(4)

(A) and (B) only
(C) and (E) only
(B) and (C) only

(D) and (E) only

ferg wEMEPR i grE] 9 gafya e W f9ER $61e

(A)
(B)
(©)
(D)

(E)

ferqaa v o 3w 0wyl 9l 6§ T HHEA 9 9el] o d@deld SEd &l udrE J8 v

HTe g fame g & 3w g 2

el g 7= gemrr 6 sfi| gm 2)

s ur fadl wEmmrR $1 9fa a2l

fame warmmn i Ihi-fayadm wm sera i faeger % odM 8 3gvg @ il 21

44 feu 7o fawedi O 9 39w @1 =49 Hifso

(1)
(2)
(3)

(4)

FHael (A) 31 (B)

*Hae (C) 31 (E)

#ael (B) 31 (C)

Fad (D) 31 (E)

[Question ID = 346][Question Description = Q46_Geog_SH1_Set1_A]
1. 1 [Option ID = 1381]
2. 2 [Option ID = 1382]
3. 3 [Option ID = 1383]
4. 4 [Option ID = 1384]

47)

(A)

(B)

(C)

(I

Which of the following statements are correct regarding ‘Doabs’ of Punjah?

Jalandhar Deab between the Beas and the Sutle]
Bari Doab between the Beas and the Ravi
Sindh Doab between the Ravi and the Jhelum

Chhaj Doab between the Beas and the Ravi



Choose the most appropriate answer from the options given below :

(1) {A) and (B) only
(2) {A) and (C) only
(3) (C) and (D) only

(4) {B) and (D) only
o At i f et 8 e 3w w37
(A) = N TEeT o S 21T
(B) =\ 31T T F s A i
(C) T i gem % o foyg g

(D) =4\ 37 A F b o aeE

A f2u T faeTl W EE SR 99 I
(1) =39 (A) 51 (B)
(2) FaeT (A) 31 (O)
(3)  Fa (C) I (D)

(4) e (B) 7R (D)
[Question ID = 347][Question Description = Q47_Geog_SH1_Set1_A]
1. 1 [Option ID = 1385]
2. 2 [Option ID = 1386]

3. 3 [Option ID = 1387]
4. 4 [Option ID = 1388]

48)

Which of the following statements are correct about the benefits of international trade?

(A) It has allowed an enormous variety of resources to enter into trade basket

(B) It facilitates the distribution of a wide range of manufactured goods. produced in
different parts of the world to global market

(C) International trade decreases the overall costs of production
(D) It has helped the developing countries more than developed countries

(E) It has helped the consumers to buy more goods from whatever wages they earn and

their living standards improved

Choose the correct answer from the options given below :
(1)  &). B), (E)only
(2 (). D). (E) only
(3)  (A).(®B) (C)only
4 (A (©), (E)only

SIS AW % el B Geia AEeigd § 3 FiA -0 0 0o 2 7

(A) THF Te =R UA § fAiuE TR % gmhat = uEm 2 2



(B)

(C)
(D)

(E)

Tva = A 9eT A oG Hia-9id % Sehal i divas 9§ fEai w0 OsHd gEEd
et 21

T IR ANEl AU SO FE R A 2

SO IO ® 3 A @ 8 st ae wied § e freft 2 e o e v d aw

7T 21

fr fou e Tl © wE T= 1 =g A

(1)
(2)
(3)

(4)

F77 (A). (B). (E)

== (C). (D). (E)

Fa (A). (B). (C)

e (A). (C). (E)

[Question ID = 348][Question Description = Q48_Geog_SH1_Set1_A]
1. 1 [Option ID = 1389]
2. 2 [Option ID = 1390]
3. 3 [Option ID = 1391]
4. 4 [Option ID = 1392]

49)

Identify the terrestrial dizasters

(A)
(B)
(C)

(D)

Cold wave

Seismic

Collision of metears with the earth

Tsunami

Choose the correct answer from the options given below :

(1)
(2)
(3)

(4

(A) and (B) only
(B) and (C) only
(C) and (D) only

(B) and (D) only

faferfiaa O o Oifies siaerstl &1 ye=rfae

(A)

(B)

(€)

)}

#ia @
gepufig
Feehiie] &1 gefl § ZHE

HArdi

41 fen mo fawmadi @ wdl 39 %1 =19 oo .

(1)

2)

Fael (A) 31 (B)

Fael (B) 311 (C)



(3)  @ad (C) 3 (D)

(4  Fad (B) #AF (D)

[Question ID = 349][Question Description = Q49_Geog_SH1_Set1_A]
1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4. 4 [Option ID = 1396]

50
) Which of the following waterfalls pertain to Narmada River?

(A) Mandhar

(B) Hiran
(C) Tawa
(D) Dardi

(E) Sahasradhara

Choose the correct answer from the options given below :
(1) (A (B) and (C) only
(2) (A). (D) and (E) only

3y (B). (C) and (D) only
(4) (C), (D) and (E) only

fferfiga 4 & wi4-9 Seraarg g 4d) | defud 29

(A) HuR
®
(€)
@) e

(E)  Hemuum

4 fou w fysedi § w1 3w %1 wm Hifau .
(1)  ad (A). (B) 3 (C)
(2) a9 (A), (D) 3 (E)
(3) & (B). (C) 31 (D)

@) F4e (C), (D) 3 (E)

[Question ID = 350][Question Description = Q50_Geog_SH1_Set1_A]
1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398]
3. 3 [Option ID = 1399]
4. 4 [Option ID = 1400]

51)
Consider the following and choose the correct sequence of maps from larger scale to smaller scale

(&) Cadastral

Fg =% L) i TSRy (et |



b

(€)

D)

T, [ e e R e

Wall

Globe

Choose the correct answer from the option given below :

(1)
(2)
(3)
(4)

(A). (C). (D). (B) only
(B). (4). (C). (D) only
(&4). (B). (C). (D) only

(C). (A). (B). (D) only

Ao 1 e 4 vad gu gEfEl %) 92 3 e s e d sEfed i

(A)
(B)
(©)

(D)

Y-kt WA

TEATEHAF AT

diare JiAfaE

EIE]

Hre feu o fawedi § 9 9l 3w w1 93 Fifdo

1)
(2)
(3)

(4)

(A&). (©). (D), (B)

B). (A). (O, (D)

(A). (B). (C). (D)

(C). (A4), (B). (D)

[Question ID = 351][Question Description = Q51_Geog_SH1_Set1_A]
1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]

52)

Which of the following statements are correct related to population studies?

(A) The Neo-Malthusian theories, contended that in human population fertility behaviour
1s conditioned by technological development

(B) Thomas Malthus was an English Economist and demographer

(C) Population cohort refers to. a group of population unified by a specific common
characteristics

(D) Crude birth rate refers to birth rates minus death rates

(E) Population pyramids are constructed to identify natural growth rate of population

Choose the correct answer from the options given below :

(1) (A). (B), (D) only

@ (4. (). (E) only

(3) (A (B). (C) only

@  (B), (D). (E)only

A AT F 999 H HEEigd 8 5 F4 50 5el A 7

(A)

T HIFIEETE] HETE B T 5 T R TR g See §, ST AEaT SR 9 T



Ty FET 2

(B)  Hing Teum UE UF YR 3 Aawierditag 9

(C) O e U A wEm [ 5 vhi S O W I e 2

(D)  ZOiad 579 = ¥ Af99E 2 5 7 g 7§ o

(E) o ies e 6 Tios dig 51 1 T5e F4 6 o sHE S 2

A fou T e § | WE I = e

(1) === (A). (B). (D)

(2)  FA (A). (C) (E)

(3) Fe (A), (B). (C)

(4)  =ae (B). (D), (E)

[Question ID = 352][Question Description = Q52_Geog_SH1_Set1_A]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]
3. 3 [Option ID = 1407]
4. 4 [Option ID = 1408]

53)

Identify the cryogenic indicators of paleoclimates :

(&)
(B)
(©
D)
(E)

Evaporite deposites
Ice cores
Duricrusts

Varves

Ice sheets

Choose the correct answer from the options given below :

)
@
(3
4

(A) and (B) only
(B) and (E) only
(A) and (C) only

(C) and (D) only

QAT 6 FHETAHE Skl TEEE H

(&)
®)
(©)
D)
)

A famo
31EH i

%g Wi

e

=k =T

= feu o faweqi 4§ ot 39 &1 933 Fif

(€Y
@
(3)
(€))

+dd (A) 3111 (B)
ad (B) 311 (E)
Fae (A) 31 (C)

Fga (C) 31 (D)



[Question ID = 353][Question Description = Q53_Geog_SH1_Set1_A]
1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

54)
The volume, nature and direction of global trade is influenced by

(A) Economic advancement

(B) Comparative and locational advantage
() Historical factors and investment

(D) Changes in global market

(E) Geographical distance

Choose the correct answer from the options given below ;
(1) {A) and (B) only

(2)  (B). (C) and (E) only

(3) {B), (C) and (D) only

(4) (A), (B} and (C} only

Afaes sy <y wen, vafa i fesn freferfan & vwifam & 2

Ay sl wifq

(B) TS 3w w1
(C)  UfaErEer wr 3 fre
(D) <afvas araw 9 giadq
® il gl

4 Teu mu fawedi O 4 wdl g =1 =29 Fifsw .
(1) %= (A) R (B)

@ %44 (B). (O) 3R (E)

(3) & (B). (C) 3 (D)

4)  FEEA), (B) 3 (C)

[Question ID = 354][Question Description = Q54_Geog_SH1_Set1_A]
1. 1 [Option ID = 1413]
2. 2 [Option ID = 1414]
3. 3 [Option ID = 1415]
4. 4 [Option ID = 1416]

55)
Which of the following pairs is not correctly matched?

(A) Kos1 — Consequent river
(B) Narmada — Rift Valley river
{C) Sutle] — Antecedent river

(D) Ghaggar — Endoreic river

Choose the most appropriate answer from the options =iven below :



(1) (A) only
(2)  (B)only
(3) (C)only

(4) (D) only
feeiferfiga W & &iF = gm gifem 941 27

(A) - e 4d
(B) Adgr - ww wd 4d
(C) Hderd — qdadi 441
(D)  EER - HAIEE T

I fev o fawedi 0 8 ol 30 % =99 $ifau .

1 FaE Q)
@ a9 (B)
(3 %94 ()
4  Fae (D)

[Question ID = 355][Question Description = Q55_Geog_SH1_Set1_A]
1. 1 [Option ID = 1417]
2. 2 [Option ID = 1418]
3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

56)
Which one of the following are methods of load movement of sediment transportation in

oceansg?

(A) Traction
B) Saltation
() Turbulent flow

(D) Flocculate

Choose the most appropriate answer from the options given below :

(1)  (Aonly
(2) (A) and (B) only
(3)  (A). (B) and (C) only

(4)  (B). (C) and (D) enly

YETHIE & 3EEe (dere) uitaed & yn-waer fi faafafaa o 9 20 @ fafeen 87
(A) w4y
(B)  avfra

(C)  WeEH arR



(D)

oA (FeAlReRR)

4 fau o famedi O 8 wad 39ge 39 &1 924 hifa

(1)
(2)
(3

(4)

Fael (A)
Fae (A) 30 (B)
FaE (A). (B) 371 (C)

F494 (B). (C) 371 (D)

[Question ID = 356][Question Description = Q56_Geog_SH1_Set1_A]
1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4. 4 [Option ID = 1424]

57)
Population migration
(A) pull factor in population migration refers to availability of hivelihood opportunities at
destination places
(B) step migration refers to stepwise availability of livelihood opportunities at destination
places
(C) push factor in population migration refers to less limited availability of livelihood
opportunities at originating place
(D)  migration field refers to return migration to originating place
Choose the most appropriate answer from the options given below :
(1) (B) and (D) only
(2) (A) and (B) only
(3) (B) and (C) only
(4) (A) and (C) only
EEGtCRCEE]
(A)  wEEET vged 4 figgE S Taed el 9 Sifae & s i 3uersal oA 0 9qrd 2
(B)  =ROTEZ YA TAeg W1 9 et % wawn &) wo-on I9ered & 91 4§96 2)
(C)  w9HEN YaHd 4 gaTe e e BH W Aifdw & srEl i sl @ dHifga auetesa & a@f d
FATd 21
(D) wasA 23 5ol 2y o6l 37F 918 YEEE %1 6 9R § Fard 21

Hia feu o faereai O | wdl 39 & = fifio .

@
@
3
@

4 (B) 371 (D)
Fael (A) 31 (B)
F94 (B) 311 (C)

Fae (A) 31 (C)

[Question ID = 357][Question Description = Q57_Geog_SH1_Set1_A]
1. 1 [Option ID = 1425]
2. 2 [Option ID = 1426]
3. 3 [Option ID = 1427]



4. 4 [Option ID = 1428]

58)
Who among the following climateologists advocated Hekistothermal concept in his climatic

classification?

(A) Miller
(B) Koppen
(C) Candole

(D) Trewartha

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A)and (D) only

Freferfiga 1 9 fopn Srerary damiies 3 30 Sterary gadi weffem 0 2feadionta sy 6 gsem 67

A) faen
(B) &I
(€C) =
® e

I feu o fawedi O 4 odl 39 & 999 Fifau

(1) = (A) 3R (B)

(2)  Fgd (B) 300 (C)

(8) @ (C) 3R (D)

(4) e (A) 3 (D)
[Question ID = 358][Question Description = Q58_Geog_SH1_Set1_A]
1. 1 [Option ID = 1429]
2. 2 [Option ID = 1430]

3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]

59)  Which one of the following statements is/are incorrect regarding waves?
(A) wave height 13 not indicator of wave energy
(B) wave height is controlled by wind strength

(C) the dizstance of open water a wave travels over affects the wave height

(D) the depth of the sea iz important factors affecting wave height

Choose the most appropriate answer from the options given helow :
(1) (A) only
{(2) {A) and (B) only

(3) (C) only



(4) (C) and (D) only
faeaferfiaa O & =59 W/8 +9q 900 & o) 4 58 48 27

A) @ F Farg @ i Al F Heeas T4 2
B) T F Fand wm i wfe g Fafa g 2
(© el o i gfl, Fonl o et 8, 2udl S & wafed e )

(D) wg s aw i Sand o warfaa o aren v gEeE SR 2

i fou mo fawedi 8 | wa Ivge I w1 w2 Hif
(1)  *9d (A)

(2)  *gd (A) 30 (B)

(3) %[ (C)

(4 %99 (C) 31t (D)

[Question ID = 359][Question Description = Q59_Geog_SH1_Set1_A]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]

60) YWhich of the following statements about international trade in post-globalization phase are cotrect ?

(A) The share of international trade has doubled now in comparison to that of 1950
(B) Protectionist tendency in trade stands highly discouraged now
(C) The share of developing countries has increased substantially

(D) The share of manufactured goods has grown sharply

Choose the most appropriate answer from the options given below :

(1) (A). (B). (D) only
($24] (B). (C). (D) only
(3) (A), (C). (D) only

4) (A). (B). (C) only
IR-J7iE & w0 A SR & fava d Fefetaa § 8 $9-8 wue 5 20
(&) 1950 i e § SHawg saen 1 fEeE g o 2
(B) 3@ SR wevEndl waid i steafiue gtz fe a2
() fawmsiia goni = favdt 8 wain afg 22 21
(D) b awqa o famn oo @ =a1 2
= faw e faeredi 0 9 wad SUgw S & == Hif
(1) %9 (A). B). (D)
@  %a€ (B). (C). (D)

(3)  aE (A (O, (D)



@ %d (A), (B). (O)

[Question ID = 360][Question Description = Q60_Geog_SH1_Set1_A]
1. 1 [Option ID = 1437]
2. 2 [Option ID = 1438]
3. 3 [Option ID = 1439]
4. 4 [Option ID = 1440]

61) Which one of the following groups of land forms is produced by erosion?

(A) Fiords. Drumlins, Natural levees
(B) Playa. Pinacle, Swallow holes
() Esters, Outwash plain, Till

D Cirques. Stalagmites. Ventifacts

Choose the most appropriate answer from the options given below :
(1) (A) and (D) only
(2) (A) only

(3) (B) and (D) only
(4) (B) only

faerferfiga 1 @ fra/fe -l age) aygl @ Fufor srea g g 27

() fearg, gafem, wrsfes dzda
®B) e, =@, faem 1y
(© e, feurfiela e, demed gl

(D) =, WelmrEe, argguey

= fen e faedi § | 5a8 39 I H1 T HIfA0
(1)  &aa (A) 3F (D)

(2 aEd (A)

(3)  %EE (B) 3 (D)

4 %94 (B)
[Question ID = 361][Question Description = Q61_Geog_SH1_Set1_A]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]

3. 3 [Option ID = 1443]
4. 4 [Option ID = 1444]

62)
Read the statements carefully and find out the incorrect one. associated with GIS

(A) Data from several sources is integrated In consistent form
(B) “‘What if’ scenarios can be visualised
(C) In vector — data base, map data is stored using a matrix of grid cells

(D)  Attribute data are descriptive data of features



Choose the most appropriate answer from the options given below :

(1) (A) only
(2) (B) only
(3) (C) only

(4) (D) only
ofl 8 ve % waw d fefafas 4 9 w6 @ 0 w12 2y
(&) fafum = 8w siRsi €1 w@ra v d v fe sma 2
B) @ - afe (sEre-gw) dfigEEl &1 IR w9 H gEl S g 2

(©)  de e 1 fire de & Afgam @1 I0gm @vd 70 Wi seel w R fe e 2)

(D)  HAfrege = fafsrgaa & JuiFea® w2 2

A1 feu o forsredi O 9 wad 399 3 &1 954 Sifau

(1)  #HEd (A
(2 *Ed (B)
(3) % (C)
4 % (D)

[Question ID = 362][Question Description = Q62_Geog_SH1_Set1_A]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
4. 4 [Option ID = 1448]

63)
Which of the following are very high risk areas of earthquake?

(A) Tripura
(B) North Bihar
() Eastern Gujarat

D) Haryana

Choose the most appropriate answer from the options given below :

(N (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A) and (D) only

kY = =g Afus Fifan 7 & 2 -

@ P
® I faEn
(©  ydl e



(D)

afaTon

dra feu o fased] O | |8 3 @1 =21 Fifa

(1

2

(3

(4)

[Question ID = 363][Question Description = Q63_Geog_SH1_Set1_A]

Fael (A) 31 (B)
Fga (B) 310 (C)
Fad (C) 317 (D)

Fee (A) 3R (D)

1. 1 [Option ID = 1449]
2. 2 [Option ID = 1450]
3. 3 [Option ID = 1451]
4. 4 [Option ID = 1452]

64)

Who among the following geographers. focused on man centered Geography?

(A)
(B)
(©
(D)
(E)

Davis and Sample
Huntington and Blache
Gefferron and Humboldt
Blache and Reclur

Guelke and Jean Brunhes

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (B) enly
(B) and (D) only
(D) and (E) only
(A) and (D) only

fr=ferts & #19  greEs 99 e 9T ® e m et

(A
(B)
(€
(D)

(E)

SFEA AR FE

= fzu U e 9 3 w8 I W 9Ee A

(1)
(2)
(3)

(4)

Faet (A) 3T (B)

Fae (B) 317 (D)

Fae (D) 37 (E)

Faer (A) #R (D)

[Question ID = 364][Question Description = Q64_Geog_SH1_Set1_A]
1. 1 [Option ID = 1453]
2. 2 [Option ID = 1454]
3. 3 [Option ID = 1455]
4. 4 [Option ID = 1456]

65)

N b D By e I = g T e L T NP E, ot ROt MR Tel o NI o SOES

F P R e, LAl e R ;



WY LLILLE AL LI UYL S LRl LS AT LIV Aol lalioil wwllldl odllils pPay LAl UAT Vel
(&) Thermometer

(B) Swivel joint

{C) Screen

() Sieve

Choose the most appropriate answer from the options given below :

(n (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
4 (B) and (D) only

faegferfiaa 4 @ = & wiftafys seg fiom argendier 4 gag 48 27
(A) e

(B)  TIEde wATEL

(C)  =hi

(D) =l (i)

< feo o fawedi § © w9 39w I H1 9 Hifa

(L) FEd (A) 3R (B)

@  FEe (B) 3 (C)

(3)  =d (C) 31 (D)

(49  %Ea (B) 31 (D)
[Question ID = 365][Question Description = Q65_Geog_SH1_Set1_A]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]

3. 3 [Option ID = 1459]
4. 4 [Option ID = 1460]

66)
Matech List I and List IT :

ListI List IT
(Thinker/Scholar) {Theoryv/Model/Strategy)
(A) Gunnar Myrdal (N Strategy of unbalanced growth
(B) A.O. Hirschman (I) Circular and cumulative causation
(C) John Friedmann (III) Growth centre and growth axis
(D) J. Boudewille (IV) Core and periphery

Choose the correct answer from the options given below :

(1)  (A-D. (B)-(D. (C)-dID). (D)-(IV)
(2)  A)-aD. B)-@), (CO)-AV), (D)-dID
(3)  A)-aID. (B)-V). (C)-0), (D)-(I)



@ (A-IV). (B)-dID). (C)-ID). (D)D)

Hel-1 % &1 &1 go1-11 faer $ifam .

(A)
(B)
(©)
(D)

AT
(Ferames | forgra)

Tan fuzad

u. 3. fevm
EIER aEce:E
ERLIERiCR

H9 feu o fawedi 0 4 98 3w & 939 fifau

(1)
(2)
(3)
(4)

(A)-1D). B)-D. (O)-1II). (D)-IV)
(A)-ID. (B)-(D. (C)-(IV). (D)-A1II)
(A)-AID). (B)-(IV). (O)-T). D)-(1L)
(A)-OV). (B)-(II). (O)-(ID). (D)-(I)

q1-11
(frgia | "iee [ Torifa)
(O  FEdferd fasm it
(D) wi9fia vd J94) FR FE HaY
(IIT) fersbr e 311 fersbr ol
(IV) =% (Core) 3 4ftf¥ (periphery)

[Question ID = 366][Question Description = Q66_Geog_SH1_Set1_A]
1. 1 [Option ID = 1461]
2. 2 [Option ID = 1462]
3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]

67)

Match List I and List II ;

ListI

Proponent

(A) Gibson

(By Guelke

(C) Peet

(D) Wright and Kirk

List IT
Philosophy of Geography
()  Idealism
(I) Realism
(III) Behaviourism
(TV) Radicalism

Choose the correct answer from the options given below :

(1)  (A-D. B)-AID). (C-I). (D)-IV)
2) @AV, (B)-01). (C)-an. D)D)
3y (A)-aD. (B)-(D). (O)-AV), (D)-(IID
4 (A-D, B)-ID, (C)-(IV). (D)-(1D

L% @ w1 g1 fram difsm .

drar feu e fpedi § 4w g %1 = fifae

(&)
(B)
(©)

(D

I

e

T

i

gz ug fdk

HHI-1T
@D  srrggErg
(D) ==
(IIT) =FaTars

(Iv) wfaqare



(1)
(2)
(3)
(4)

(A4)-(1ID). (B)-(ID). (C)-(D. (D)-(IV)
(A4)-0V), (B)-(1D). (O)-aD. (D)-(D
(A)-1D). (B)-(D. (O)-AV). (D)-AID
(A)-@). (B)-(ID. (C)-(IV). (D)-(1I)

[Question ID = 367][Question Description = Q67_Geog_SH1_Set1_A]

AW N =

68)

(&)

(B)

(©)

(D)

1 [Option ID = 1465]
2 [Option ID = 1466]
3 [Option ID = 1467]
4 [Option ID = 1468]

Mateh List I and List IT :

List I
Urban terms
Urbanized Area

Conurbation

Urban Influence Zone

Primate City

List IT
Definitions

(I) Continuously built up landscapes with
no political boundaries

(I Continuous urban built-up area with
multiple urban centres

(IIT) A city with much higher population
(more than twice) than the proportion
of second largest city

(IV) Areas outside cities having significant
city influence

Choose the correct answer from the options given below :

(1) @A-D. B)-ID). (C)-@V), (D)-(IID
(2)  A)-AID. B)-1D). (O)-@). (D)-(IV)
(3)  (A)-AD. (B)-dII), (C)-@). (D)-IV)
4)  (A)-aV). B)-aD. (O)-(D). D)-(I1D)

AT % =2 & gA-I1 fyerd Hifo

(A) FTiEFHd &

(B)
(&)

(D)

e el
T g SH

S AT

g

arEt] yegrarett

=11
BIERH LY

(D o fed wedfas dmsi & gad =9 9
fafda ygoa

(ID) 8 FHE F5i afed gaa wia Gl &

(D) =7 +r foradl FAEe g0l %0 & FR/ &

AEE U wEd HluE R (U B i)

e fou e faeredi H 4 & 39 1 =94 Hife

(1)
@)
(3)
4

(A)-(D). (B)-(D). (C)-(IV), (D)-(I1L)
(A)-(1D). (B)-(AD. (C)-d). (D)-IV)
(A)-(ID. (B)-(IID. (C)-@). (D)-(IV)
(A)-(V). (B)-(ID), (C)-(D), (D)-IIL)

(IV) R & 9t 98 = TG 99" Jref &

[Question ID = 368][Question Description = Q68_Geog_SH1_Set1_A]

A w N =

69)

1 [Option ID = 1469]
2 [Option ID = 1470]
3 [Option ID = 1471]
4 [Option ID = 1472]

Match List I with List I1 ;



(A)
(B)
(©)
(D)

Last 1

(Theories of origin of tides)
Equilibrium Theory
Dynamical Theory
Progressive wave Theory

Stationary wave Theory

List 11
{(Propounded by)
(I Newton
(IT) Laplace
(ITI) Whewell
(IV) Harris

Choose the correct answer from the options given below :

(1
(2)
(3)
€))

(A)-(IV), (B)-(ID). (O)-aD). (D)-(D
(A)-(1D). (B)-dD. (C)-AV). (D)-(D
(A)-aD. (B)-IV). (O)-(D. (D)-AID
(A)-(I). (B)-(I). (C)-(1I). (D)-(IV)

HeEl-I % @1 1 gH-11 fram it

(&)
(B)
(<

(D)

44 fen o fayeadi @ 9 98 I & =991 Fifaw .

(1)
(2)
(3)
(4)

-1
= % 324 & HaE

areg fagra
fadhrg fagia
i T g
HW i T

(A)-@V). (B)-(II). (C)-{I). (D)-(I)
(A)-(1ID). (B)-(ID). (C)-AV). (D)-(I)
(A)-(D). (B)-(AV). (C)-(D). (D)-(II)
(A)-I). (B)-(ID). (C)-(1D). (D)-(IV)

11T

BIGRIGCS
@
(I)  eAreerd
(D) ==
(IV) 2fH

[Question ID = 369][Question Description = Q69_Geog_SH1_Set1_A]

AN wnN -

70)

1 [Option ID = 1473]
2 [Option ID = 1474]
3 [Option ID = 1475]
4 [Option ID = 1476]

Matech List I with List IT ;

(4)
®B)
(C)
D)

List I

(Soil Type)
Laterite
Saline
Black

Red loam

List IT

(Places of occurrence)
(Il Rahr plain
(IT) Maharasthras plain
(III) Rajmahal Hills
(IV) EKutch region

Choose the correct answer from the options given below :

(1
(2)

(A)-(1D), (B)-(IV), (C)-(I1D). (D)-(D)
(A)-(IV) {B)":ID! (C)‘(IID! {D)‘(D



(3)  A)-dID. (B)-(IV). (O)-aD. (D)-(D)
4 A-IV). (B)-aD. (O)-(D). (D)-AID

g1 w1 g 11 foem Hifsw .

T .11

Hal w1 YN urg S aredt s
(A) e @M T den
(B) (ID =g &1 Her
(C) Il (IIT) TrAgea = vaifear
(D) el gHe (IV) *=5 &9

Fia feu o fawmedi O & w9 3 &1 =3 Fifd

1 @-dD. (B)-(IV), (O-IID. (D)D)
2 @-IOV). (B)-dD. (C)-(IIL). (D)-(D)
(3)  (A)-ID. (B)-0V), (O)-1D). (D)-(I)
4 A)-av). (B)-a. (C)-(1I), (D)-(III)

[Question ID = 370][Question Description = Q70_Geog_SH1_Set1_A]
1. 1 [Option ID = 1477]
2. 2 [Option ID = 1478]
3. 3 [Option ID = 1479]
4. 4 [Option ID = 1480]

71)
Match List I with Last IT :
List I List IT
Transport Network Measures Definition
(A) Network Density (I)  Average length per link
(B) PilIndex (II) Transport network in terms of km of
links (L) per square kilometer of
surface (5)
(C) EtalIndex (III) The relationship between total length
of the graph (G) and the distance a log
its diameter D(d)
(D) Theta Index (IV) Average amount of traffic per
intersection
Choose the correct answer from the options given below :
1y (@A), B)-(1D), (C)-(IIL), (D)-(IV)
2) @)D, (B)-(D, (C)-AV), (D)-(ILL)
(3  (A-IID. B)-D), (C)-IV), (D)-(ID)
4  (A-ID. (B)-(ILI). (C)-(D), (D)-(IV)
1.1 % = &1 HH1-11 e Hifo
g4I 11T
ufteza dedsd uITE BIERL
(A) Hedeh g @  uid g (fre) sfrea ofar
(B) T 3 gEEF () §ag & 9fd v fereimier gon &1 6. 6. &

Hay 1 iEes Jeas

A b2l Py R i f e, — g e . e et e | B e e o e e e £ P | L



{

)

(D)

41 feu mu fyeei 8 9 w8 3 1 =3 il

(1)
(2)
(3)
@

&ffe] HawH

(A)-@). B)-II). (O)-(IIL). (D)-(IV)
(A)-aD). (B)-(D. (O)-AV), (D)-AID
(A)-(ID). (B)-(D). (C)-(IV), (D)-(II)
(A)-(D). (B)-(IID). (C)-D). (D)-(IV)

LR B E e B chot B b B Lt b El M L B G L | c§|
% o Hay
(IV) i ufe=sted sHa a6 9w

[Question ID = 371][Question Description = Q71_Geog_SH1_Set1_A]
1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]
3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]

72)

Match List I wath Last IT

()
(B)
(©)
(D)

List I

Whitlesey's Agricultural region
Commercial dairy farming
Commercial grain farming
Nomadic herding

Commercial plantation

List IT

Name of country
(Il  Mangolia
(I} Srilanka
(IIT) New Zealand

(IV) Argentina

Choose the correct answer from the options given below :

(D
(2
(3
4

(A)-@). (B)-(ID). (O)-(ID). (D)-IV)
(A)-dD). (B)-ID). (C)-IV). (D)-(T)
(A)-AID). (B)-aV). (C)-(D). (D)-(ID)
(A)-AV). (B)-). (O)-aD. (D)-(D)

-1 % |1y =1 gAI-I1 firers =it

(&)
(B)
(©)
(D)

Fret feu o faspedi 0 8 = 39 &1 =997 Fifao

(1)
(2)
(3)
(4)

g1

faeerd =1 %Y v

arfuf>ae g4 Jermed
g W ITed
TR T[T
i digri

(A)-@). B)-(1D). (C)-(I1I). (D)-IV)
(A)-d1), (B)-(IID. (C)-IV). (D)-(D)
(A)-ID). (B)-AV), (C)-(D), (D)-AD
(A)-AV). (B)-11D). (O)-AD. (D)-(D)

HA-IT

@91 H1 4
(O werfer
(1D e
(IIT) =g=fiete
(IV) FHSodH1

[Question ID = 372][Question Description = Q72_Geog_SH1_Set1_A]
1. 1 [Option ID = 1485]



2. 2 [Option ID = 1486]
3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]

73)
Match List T with List II :
List I List IT
Tropical Disturbances Wind speed in cireulation (in kmph)
(A) Low pressure area (I 89-118
(B) Cyclonic storm (I} 31-—49
(C) Depression (III) =31
(D) Severe cyclonic storm {(IV) 62—88
Choose the correct answer from the options given below :
(1) (A-IV), (B)-AD. (C)-(IID). (D)D)
(2)  A-dID. B)-1D. (C)-@. (D)-(IV)
(3 (A-dID, (B)-IV), (O)-aD). (D)D)
@ (A-O. B-IV), (O)-dII), (D)-I1D)
el 1% Ty %1 gl 11 faem $ifse -
g1 gHi-11
sonhfesdiy faaim afegero § veq < =@ (fefl) ufa =521
(a) = zaE o (D 89-118
(B) FsRATd %H (II) 31-49
(C) HaH5A (Il <31
(D) o Hhardy gEH (IV) 62-88

4 feu o foreredi O & mEl I o e hifa

(1)
(2)
(3
(4)

(A)-IV), (B)-(1D. (C)-(ID). (D)-()
(A)-(ID). (B)-ID. (C)-(I). (D)-IV)
(A)-(I1). (B)-(IV), (C)-(D. (D)-(D
(A)-@). (B)-(IV). (O)-AID), (D)-(II)

[Question ID = 373][Question Description = Q73_Geog_SH1_Set1_A]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]
3. 3 [Option ID = 1491]
4. 4 [Option ID = 1492]

74)

Match List I with List IT ;

ListI
Cultural Terms

(A) Cultural Hearth

{(B) Cultural Landscape

(Cy Cultural traits

@D

(1D

List IT
Definition

Cultural parameter
learned behaviour

that specify

Areas of innovation from which key
cultural elements diffused to
surrounding areas

(III) Surfaces or areas modified by human



action to produce tangible and
physical records over a period of time

(D) Cultural Realms (IV) Cultural regions showing related
cultural complexes and landsecapes

Choose the correct answer from the options given below :

(1) (A)-aD. (B)-(IV). (O)-(D). (D)-(IIL)
(2)  (A-IID. (B)-(ID). (C)-I). (D)-(IV)
(3)  (A-AID. (B)-IV). (O)-I), D)-(ID
4 (A)-aD. (B)-IID. (G)-@). (D)-IV)

11 o =y &1 g0 frers ifie .

g1 gI-11
Huapfd s BIESIL|
(&) HEhldE gemaE (I) |rhids qFGe Al fagaryl sqasr 1 goid
2l
(B) HFafae q-5v3 (ID)  wifqaan =1 am oy sge HJiesids a0
HPH-UM & &1 4 warfe g s 2
(C) HiEfash qm (IID) Terel sprarafey | weETa *E g oiEfda g
HaE AU &3 1 gd vd difqsw fomrg
(D) drEhfde ufmvza (IV) el dRpias HEaisl a1 -9 *l
CTHETE S e &7

= feu wo fawedi d & w1 39 & =39 Fifa .

(1 @D, (B)-(IV). (C)-(D). (D)-(IID)

(2)  @-IID. B)-ID. (C)-@). M)-(IV)

(3)  (A-AID. B)-AV). (O)-D). (D)-(ID)

4y (A-aD. B-WD. (O)-D. M)-IV)
[Question ID = 374][Question Description = Q74_Geog_SH1_Set1_A]
1 [Option ID = 1493]
. 2 [Option ID = 1494]

3 [Option ID = 1495]
4 [Option ID = 1496]

A w N =

75)
Match List T with List IT :

ListI Tast II
Land forms Agents of gradation
{(A) Monadnocks (D  Wind
(B) Blind valley (I Glactea
(C) Drumlins (III) River
(D) Zeugen (IV) Ground water

Choose the correct answer from the options given below :

(1)  (A)-aD. (B)-(III). (C)-d). (D)-IV)
2y  (A)-aV). (B)-I). (C)-11I). (D)D)
3 A1, B)-AD). (O)-0V). (D)-(IID
4)  (A)-aID. (B)-IV), (C)-aD). (D)-(D)

HeAl-1 e w1 & gei-I1 firerm ifo

ek T et TT



i S SlHi-Ll

e leanell A9 HaeH & HE
(A) THEATE O 9=
B) =4 i Iny feude
(C) =eHfer (IIT) =41
(D) g IV) ot 5@

4= few o fmsedi 1 | 9 3 & =99 Fifao .

(1) (A-ID. (B)-(IID). (C)-(@), (D)«(IV)

2)  (A-aV). B)-dD. (C)-1I). (D)-(D

3 (A1, B-ID. (C)-AV), (D)-IID)

4)  (A)-(ID), (B)}-(IV). (C)-ID. (D)-(1)
[Question ID = 375][Question Description = Q75_Geog_SH1_Set1_A]
1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]

3. 3 [Option ID = 1499]
4. 4 [Option ID = 1500]

76)
Which one of the following is the correct chronoclogical segquence of the German School of

Geographers?

(A) F.V. Richthofen — F. Ratzel — Alfred Hettnen — Oscar Paschel
(B) F. Ratzel — Oscar Paschel — F.V. Richthofen — Alfred Hettner
(C) Alfred Hettner — Oscar Paschel — F.V. Richthofen — F. Ratzel
(D) Oscar Paschel — F.V. Richthofen — F. Ratzel — Alfred Hettner
(E) F.V. Richthofen — Alfred Hettner — F. Ratzel — Oscar Pazchel

Choose the correct answer from the options given below :

(1) (A and (D)
(2) (C) and (D)
(3) (A) and (B)
49 (D)only

faeferfiga M | Uk e 5 S HOEE (SEd) %1 8 HiEEy 27
(A) Ul AT - U A - HeFs g5 - SR qrEEd

(B) U izwe - siew urede - ok ol fradrbad - siend agn

(C)  3E%S B3 - 3TEH Tddl - U, §1. fadi$a - uh 25a

D) i IEEE - UE o e - uF IT6e - 3ewE 2

(E) us i fma - 306 g3 - U A - 3R I

4= feu o fawedi 0 9 981 30 & 999 Fifso
(1) (A 3R D)
(2) (C) 3R (D)

(2 (AY 3T B



(4)  ad (D)

[Question ID = 376][Question Description = Q76_Geog_SH1_Set1_A]
1. 1 [Option ID = 1501]
2. 2 [Option ID = 1502]
3. 3 [Option ID = 1503]
4. 4 [Option ID = 1504]

77)
Indian States are arranged in ascending order on the basis of road length (2017)

(A) Tamil Nadu
(B) Karnataka
(C) Maharasthra

(D) Gujarat

Choose the correct answer from the options given below :

(1) (O).®B). A). D)
2 Q. 3. (0. D)
(3) (B (C). D). (A)

4 (D). B Q). ()

Hew @a e (2017) % 30GW 9 YA T 1 3EIE A O sgafem i

(A)  dfgearg
(B) #AeH
(C) Hewg
(D) I

49 feu e famedi § @ wél I = =3 Fif
1) (©).®).A). D
2 (4. B). (©C). D
3@  (B. 0 D). &
(4) (D). (B). (A). (C)

[Question ID = 377][Question Description = Q77_Geog_SH1_Set1_A]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]

78) Arrange the following layvers of vegetation on the basiz of their height in azcending order
(A) Dominant layer

(B) Herbaceous layer

Q) Codominant layer



e} Ground layver

Choose the correct answer from the options given below :

(1 (B). (C). (A). (D)
(2) (D). (C). (B). (&)
(3) (A). (B). (€). (D)

{4) (D). (B). (C). (A)

fafefiaa aveafasi & = 395 SS9 & oy o 9AE w9 O svafem Sifm)

(A)  UHrE T

(B) 9 T

(C)  "EyyrEl =

(D) Y-F

4 feu e fawedl 4 8 wd) 39 &1 =999 Fifo .

(1)
@
(3

(4)

(B). (C). (A). D)
(D). (C). (B). (&)
(A). (B). (C). (D

D). (B). (C). (&)

[Question ID = 378][Question Description = Q78_Geog_SH1_Set1_A]

A WN -

79)

1 [Option ID = 1509]
2 [Option ID = 1510]
3 [Option ID = 1511]
4 [Option ID = 1512]

Arrange the following with respect to the interior of a thunderstorm cell

(A) Downdraft
(B) Rain
(C) Storm travel

(D)  Anvil top

Choose the correct answer from the options given below :

(L (0. D), A). (B
(2 (B.(). D). @A)
(3) @A. 3. ). D

@ (B). (), A D)

Ueh dfed 22 wifyr (8d) & HAaey & & de 1 srafiem Fifsu

(A)

EIEREIRT



B) =l

(© W Ed

(Dy  uAfaaE =iy

Hi= fen o fawedi | | wd I @ 93 Hifo

1 (©). D), A). (B)
@  (®. ). D). A
(3 (A (B), (C). D)

@ (B0 @A) O

[Question ID = 379][Question Description = Q79_Geog_SH1_Set1_A]
1 [Option ID = 1513]
2 [Option ID = 1514]
3 [Option ID = 1515]
4 [Option ID = 1516]

A WN -

80)
Which of the following states recorded literacy rates in descending order as per census
2011 data?

(A) Kerala
(B) Himachal Pradesh
(C) Haryana

(D) Odisha

Choose the correct answer from the options given below :

(1) (A. M. (©).®B)
2y  (B. ). ). D)
(3 @. 3. ). D)
(4 (A).(C). B). (D)

2011 &l FFET & 3ThS] & FHR HIERA] ¢ & HAGuE sl 1 fefefea o @) fed)

(A  FE

(B) feurae yew

(Cy  &femm
(D)  aifesn

fr= feu o famedi 4 9 w81 sy &1 =9q Fifso
(1)  (A. D). (C). (B
@  (B). A.(©C). D

(3) (A (B) (C). (D)

F AN FASY Y QB AT



A Mol Nl LM WSS

[Question ID = 380][Question Description = Q80_Geog_SH1_Set1_A]
1. 1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4. 4 [Option ID = 1520]

81)
Arrange the given vears in descending order on the basis of number of people affected by

natural disasters in India?

(A) 1988
(B) 1989
(C) 1985
D) 1991
(E) 1994

Choose the correct answer from the options given below :

(1) @A (O). (B). D). (E)
2y (D). A), B). (O (E)
3 B.A).(E).D).©

4 (E).[D), B). (). A

Fr= fau e =i %1 wra 0 gilas e grn waifae ST ol e S snun o st sy o sgafem

%

(A) 1988
(B) 1939
(C) 1985
(D) 1991
(E) 1994

A1 feu o faeredi § 3 gl 3R @ = Hifa
(1) (A).(O).B). D). (B
2) @A), B). (). (E)
(3)  B).A.E). D). ©

4 (E). D) B). (O (&)

[Question ID = 381][Question Description = Q81_Geog_SH1_Set1_A]
1. 1 [Option ID = 1521]
2. 2 [Option ID = 1522]
3. 3 [Option ID = 1523]
4. 4 [Option ID = 1524]

82)
Which of the following is the correct sequence in the development of geographic thought?

(A) Greeks. Roman. Arabs, Dark Ages

(B) Greeks. Roman. Dark Ages. Arabs



(C) Roman, Greeks, Arabs, Dark Ages
(D) Arabs, Greeks, Roman, Dark Ages

(E) Greeks. Dark ages. Roman, Arabs

Choose the correct answer from the options given below :

1§ ®
2 @
3 (©
4 (B

frfafaa @ e faar & fawm 4 faafafas = w6 w9 8 @ 37
(A) i, TEH, IWE, FATER G
(B) i, T, HAYFER, 34
(C) T4, i, 3WE, ATHREA
(D) 3w, i, i, AUHE g1

(B) i, iR g, T04 304

= feu o fawegi O 9 9 = % = difa

1 ®
2 @
@ (©
@ (B

[Question ID = 382][Question Description = Q82_Geog_SH1_Set1_A]
1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]
3. 3 [Option ID = 1527]
4. 4 [Option ID = 1528]

83) Arrange the following states in ascending order on the basis of percentage of tribal
population (2011) :

(A) Madhya Pradesh

(B) Maharashtra

(C) Rajasthan

(D) Meghalaya

Choose the correct answer from the options given below :

(1 (A, B (©C). D)
@  (©). D). B).A)
3 (B0, A). D

@ (D). @A) [B). ©)



Freafafiga =i i w9ardia s9gEn (2011) & fqe@ & snan 9 SAEE #0 o eafen #61

(A)  Hergew
(B) Hemg
(C) T
(D)  HaTEE

4= feu o fawed § 8 9dl I @ 999 Sifio

(1) A).3.C).D0D

(2) (C). (D). (B). (&)

(3) (B (O) A). D

@ (D). (A B O
[Question ID = 383][Question Description = Q83_Geog_SH1_Set1_A]
1 [Option ID = 1529]
2 [Option ID = 1530]

3 [Option ID = 1531]
4 [Option ID = 1532]

A wWN =

84)
Arrange the following in a spatial order from equator :

(A) Northeast trades
(B) Horse latitudes
(C) Doldrum

(D) Westerlies

Choose the correct answer from the options given below :

(1) (0. &), ®. D
@  (B).(C). D). @A
3 Q.3 ©).D
@ D). @AQ.©. 3B
freferfiga =1 yaes wan | 39 wnfe %n 4 sqafem &6l
(&) 3 yd sqTive T
(B) T AT
(C)  SreigH

(D) gl 9=+

e feu o faeedi O @ @ 3w @1 g4 fif



(1) (€. (A (B). D)

(2) (B). (C). D). (&)

(3) A, B. (C). (D)

(4) (D). (A, (C). (B
[Question ID = 384][Question Description = Q84_Geog_SH1_Set1_A]
1 [Option ID = 1533]
2 [Option ID = 1534]

3 [Option ID = 1535]
4 [Option ID = 1536]

AN wN -

85)
Which one of the following is the correct sequence of oceanic currents of Northern Pacific

Ocean

(A) West wind drift
(B) North Equatorial current
() Kuroshio eurrent

(D) California current

Choose the correct answer from the options given below :

(L (A3, (). D)
2)  (C). D). (B). (&)
(3) (B (C). (A). D)

@ (D). A MB. O

3erfl yariA werrE § wyd awsi & wdl e frofafiga § 4 #h-m 27

(A)  ofFeft yaq smame
(B) I faadi gm
(C)  wufsrm umw

(D)  Hferwifan am

I few o faweqi 4 9 ud 3 = 999 Fifso .

1 (A.3B).©C). DO
(2 (€. [D). ®B). &)
3 B.(©C) A). [D)

@ (D). A).®). (O

[Question ID = 385][Question Description = Q85_Geog_SH1_Set1_A]
1 [Option ID = 1537]
2 [Option ID = 1538]
3 [Option ID = 1539]
4 [Option ID = 1540]

A W N -



86)

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A): At greater ocean depths: water moves extremely slow and maintains a
uniform low temperature.

Reaszons (R) : The oceanic surface returns heat and water to the lower atmosphere.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 13 correct but (R) 1s not correct

(4) (A) 13 not correct but (R) is correct

= @l o few e @ ; ush wfushe (Assertion (A)) % ¥4 § fafigd 2 41 <80 35% %RV (Reasons

(R)) & &9 8 :

wfirmeE (A) aqz & sl mEug W ogF s ol af 9 aEd 2 s guE e amge sEe
Tl 2

HH (R) : gt ger v 300 ol w5 Fres e B ans st g 2

I hYH & areliss O, Frd fau o fasedi 4 gel 3w I & =eE dif

(1
(2)
(3)

(4)

(A) 3T (R) 2F1 W&l 2 30 (R), (A) &1 98 syme 2
(&) 3 (R) 21 w1 2, etfebd (R), (A) it |l syren 46 2

(A) @A 2, i (R) 471 741 2

(A) 81 741 2, offer (R) &1 2

[Question ID = 386][Question Description = Q86_Geog_SH1_Set1_A]
1. 1 [Option ID = 1541]
2. 2 [Option ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]

87)

Given below are two statements : One is labelled as Ascertain A and the other 1s labelled as

Reason R.

Assertion (A):  Value system iz a commonly held set of beliefs. understandings and

controls, that unite members of a culture group.

Reasons (R) : Polytheism adheres to belief in many religious beliefs.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)



2) Both (A) and (R) are true but (R) iz NOT the correct explanation of (A)
(3 (A) 1s true but (R) is not false

(4) (A) 1s false but (R) is true

4 2 A fov w2 vk wfuEeH (Assertion (A)) % %9 H fafEa 2 A1 g9 36$ $FY (Reasons
R FYH ;

Afghe (A):  ged wgfa favaw, vamyfai sin il @1 97w g 2 9 fedl arsfas
AR % HeEl F1 UF HqF G0 2

FHH (R) : FreEdre i @M %2 aifis smeens O favams vEd d)
IYIMeR 6 e ATl °, Hrd feu o fasmedl 4 4 gad 399 I &1 93 Fifau

(1) (A 3 ®) 2HE g3 2 i ®), Q) Fad sren 2
(2) (A3 (R) 2F w2, 3 (R), (A) & At =arem 38 2
(3) (A) T 2, offd (R) 3197 &

(4) (A 75 2, dfea (R) 774 2

[Question ID = 387][Question Description = Q87_Geog_SH1_Set1_A]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4. 4 [Option ID = 1548]

88)
Given below are two statements :

Statement I :  Photographs are originally produced in analogue form.

Statement II :  Image iz produced in digital form.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
3 Statement I 1s correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement IT is correct

Hr= g1 YA fqu o &
FHE I:  BRUTE §6d: THE0 ®9 0§90 2 8

&y I1: =09 fedfied &9 4 49m 2F 21

I HYH < el O, 44 fgu e faewedi d 9 wed 39y I @ = il



(1) %A I3 I g 2
(2)  HY3 I3 IS Tefd &
(3) @ Iud 2, dfehd %24 IL7erd 2
4y YT I7ed 8, o e 109 2

[Question ID = 388][Question Description = Q88_Geog_SH1_Set1_A]
1. 1 [Option ID = 1549]
2. 2 [Option ID = 1550]
3. 3 [Option ID = 1551]
4. 4 [Option ID = 1552]

89)
Given below are two statements :

Statement I : Highest source of marine pollution is shipping.

Statement IT : The South-East Asia has highest percentage of endangered coral reefs

by marine pollution.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but Statement IT is false

(4) Statement I 1s false but Statement II is true
EIE AR R

Fa 1 Wﬂmaﬂw@ﬁmqg!

HeA 1. eleqon g uftrn 0 wqdl wguw g geerTs yarentytigl % I=an ulhed 2
IR HUA & e 1, A fou o fawedi 4 9 wel 3oy I @ wa il

(1)  #9a I3 g o &

(2) Y= I3 I SHl e &

3 %R [E3 2, ok &ya 11 3w 2

(4  H [ HEA 2, difed #UF [ H 2
[Question ID = 389][Question Description = Q89_Geog_SH1_Set1_A]
1. 1 [Option ID = 1553]
2. 2 [Option ID = 1554]

3. 3 [Option ID = 1555]
4. 4 [Option ID = 1556]

90)



Given below are two statements : One 1s labelled as Ascertain A and the other is labelled as

Eeason R.

Assertion (A) : Prices and demand of real estate increases as distance towards CBD
reduces
Reasons (R) : Central Business District (CBD) of a city has high concentration of retail

store offices and cultural and recreation activities.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2 Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

9 21 Fu9 feu o B v Y (Assertion (A) & ®9 ¢ fafiaa 2 4 gE 3% FY (Reasons

(R)) & =9 4 :

sifrrea (A) - et w22 &1 himd 3i ur Fedt 2 SE-ol = @ F oars gl aed 2

FH9 (R) : U WA H hed Hauide &4 (HEE) gen wer wdier iR Hiaiae i

T & nfafata & 3= g6 2

IR FUE Tl 1, 9 foo mo fawedl A O wel IwgeE T o 9 b

(1)
2
(3)

(4)

(A) 3 (R) 31 wA # 3 R), (A) F e saven 2
(A) 3 (R 21 w41 2, Sf ®), (A) F1 5 s 96 2
(A) w4 2, A (R) 8l 74 3

Q) =@ 79 2, died R) w8 2

[Question ID = 390][Question Description = Q90_Geog_SH1_Set1_A]
1. 1 [Option ID = 1557]
2. 2 [Option ID = 1558]
3. 3 [Option ID = 1559]
4. 4 [Option ID = 1560]

Topic:-

1)

Geog_SH1_Set1_B

S.No. Temperature/°C Numbers of stations

1 0-10 i
2 10-20 2
3 20-30 3
4 30 —-40 4
5 40 - 50 b
6 50 -60 4
1 60 — 70 3
g8 70— 80 2



9 30-90 i

Answer the following guestions on the basis of above table

. 9 A9 (%4.) el <l HE

1] 0-10

]
—

10-20

[

20-30

W

30 —40
40 - 50

o

50 — 60
60 — 70

oG T - R S L

70-80

e L =2 &

80—-90 1

feu 10 wodi % I 30 wnvlt & R W A

What percent of stations recorded temperature between 30°C to 70°C?

(1) 40 (2) 54
(3) 62 (4) 64

fepe i &gl W AEE 30°C | 70°C sAeras feran v

(1) 40 (2) 54
(3) 62 (4) 64

[Question ID = 391][Question Description = Q91_Geog_SH1_Set1_B]
1. 1 [Option ID = 1561]
2. 2 [Option ID = 1562]
3. 3 [Option ID = 1563]
4. 4 [Option ID = 1564]

2) S5.No. Temperature/°C Numbers of stations
1 0-10 1
% 10-20 2
3 20-30 3
4 30 —40 4
5 40— 50 i
6 50— 60 4
T 60— 70 3
8 T0—-80 2
9 30 —-90 i

Answer the following questions on the basis of above table

F. g A9 (oH.)  FEl d HEn

1) 0-10 1
2 10-20 2
3 20-30 3

A L Fa T Fat A



il A ]

5 40 - 50 5
6 50 — 60 4
7 60— 70 3
3 70 -80 2
9 80-90 1

feu o wodi % ae Il wnoft % snaw o dfae)
The number of stations that recorded temperature less than 40°C :

1 3 2 9
(3) 10 4 5

40° |, € &5 AN FoREH H d9Tel shegl il

nm 3 2 9
(3) 10 (4 5

[Question ID = 392][Question Description = Q92_Geog_SH1_Set1_B]
1. 1 [Option ID = 1565]
2. 2 [Option ID = 1566]
3. 3 [Option ID = 1567]
4. 4 [Option ID = 1568]

3) S.No. Temperature/°C Numbers of stations
37 0-10 1
2 10-20 2
3 20-30 3
4 30-—40 4
5 40-50 5
6 50— 60 4
7 60— 70 3
8 70— 80 2
5 80—-90 1

Answer the following guestions on the basis of above table

. = AMUE (°H.) Wl 6 TEn

1] 0-10

5]
—

10-20

[

20-30

W e

30 —-40
40 - 50

o

50 — 60
60 — 70
70 -80

= B R O e W

L < =+

80-90

feu o wodl % F Il mnoft & g o G

The average temperature in the region is :



(1) 40°C (2) 45°C
(3  50°C (4) 55°C

& o1 SiHd e 2

(1) 40°C (2) 45°C
(3) a0°C (4) 55°C

[Question ID = 393][Question Description = Q93_Geog_SH1_Set1_B]
1. 1 [Option ID = 1569]
2. 2 [Option ID = 1570]
3. 3 [Option ID = 1571]
4. 4 [Option ID = 1572]

4) S.No. Temperature/°C Numbers of stations
i 0-10 1
2 10-20 2
3 20-30 3
4 30—40 4
5 40— 50 5
6 50— 60 4
7 60— 70 3
8 70 —-80 2
9 80—-90 1

Answer the following guestions on the basis of above table

. 9 A9 (%4.) el <l HE

1] 0-10 1
2 10-20 2
3 20-30 3
4 30 —40 4
] 40 - 50 b
6 50 — 60 4
7 60 — 70 3
3 70-80 2
9 80—-90 1

feu 10 wodi % I 30 wnvlt & R W A

Which one of the following is the median of the above data?

() 45°C (2 85°C
(3 55°C (4) 40°C

39w 3REl 61 mfere s 82

1)  45°C (2) 35°C
(3) 55°C (4) 40°C

[Question ID = 394][Question Description = Q94_Geog_SH1_Set1_B]
1. 1 [Option ID = 1573]
2. 2 [Option ID = 1574]
3. 3 [Option ID = 1575]



4. 4 [Option ID = 1576]

=.No.

1

w0 =~ & Ot A W N

0-10
10-20
20-30
30 —40
40 - 50
50 -60
60— 70
70-80
80-90

i
2

[

(=1

[ = N ' R =

Temperature/°C Numbers of stations

Answer the following questions on the basis of above table

5)
g
1)
2
3
4
]
6
7
8
9

feu a0 yodi & 397 39w Grofl & snan W dfany

The Third Quartile (Qz) of the distribution is :

(1)
(3)

o &1 g I9d% (Q2) &

(1)
(3)

0-10
10-20
20-30
30-40
40 - 50
50— 60
60 — 70
70 -850
80-90

45°C
45.5°C

45°C
45.5°C

CHE ATTHE (CH.) el il e

[ I

B o = D = W

(2)
(4)

(2)
4

49.375°C
59.375°C

49.375°C
59.375°C

[Question ID = 395][Question Description = Q95_Geog_SH1_Set1_B]
1. 1 [Option ID = 1577]
2. 2 [Option ID = 1578]
3. 3 [Option ID = 1579]
4. 4 [Option ID = 1580]

Topic:- Geog_SH1_Set1_C

1)

Geography as a discipline i1s focused on understanding the relationship between Man and
Nature. It is built on experiences of successive generations. The history of geography is
basically concerned with the development of human consciousness about the possibilities and
limitations that nature offers for human growth. The word geographyv was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the

study of nature. Geography studies them simultaneously.



However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars like Ratzel and Richtofen in Germany. Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship. hormony with nature
led to concepts of Determination and pessibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analvsis.
Models in Geography made significant progress. Modern Themes in Geographic thought like

positivism, pragmatism, functionalism etc work introduced.

Trertorfam e & stam W Tve T

oF T F FY 0 T F FpAg TF AR TG F A" F 5Eg F OOUe £ 98 T 9w A
FAHAT F IR T A 2| YA F I0Em G T69 30 99 901 % 9H O 2 EE a6 g #
ST 3 i v § | FEER T FAEET S 6 W AT W9 -9 F 5
17 {1 AHETE AU TE H 2| A UF AR AEiah b S S B9 W w2, e
AR TFRF o TFE F ASP WL 2 Bl P T P AT ASEE A

TS A 1 Fralerrate SerE S w A A 8 IR 53| Feese o e T afraw
fasm % =0 4 e 1 I g F 58 FE F An #E [gE A, S S A e R e i
FTH H AR ST FEE A, 3 TR AT F ET H WA | 5 T Sad o TE % Y wEe
T A=A AR oraEAEE i STt F EEm AT BTS2 4 T 99 R BS 22 9% g A w6
T AT A ARt F IEa e § oA SR G 5w e S w99 A6,
Fitg # A ¥ 30 fawm = o fEn gan wiooe, P ugl aR gl aiew snafE dimies
fo=m = TEeagl gee] SH TTU) FeA SR TEATEE UiAAE H e s, SuEesar i et e
F wgd o) Wi Hisel O #rH wE 5| Wil FER B SoasEE, SUEnhEn i T
Y T =

Who were the first to use the word Geography?

(1) Arabs
(2) Roman
(3) Greeks

(4) Chinese

Fagmdr sree @1 wam g vgel fobaer gra T e

(1) 9w
(2) T
(3 =
(4) =T

[Question ID = 396][Question Description = Q96_Geog_SH1_Set1_C]

AW N =

2)

1 [Option ID = 1581]
2 [Option ID = 1582]
3 [Option ID = 1583]
4 [Option ID = 1584]

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It is built on experiences of successive generations. The history of geography is



basically concerned with the development of human conscicusness about the possibilities and
limitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal sclence.
After this period many scholars like Ratzel and Richtofen in Germany. Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship. hormony with nature
led to concepts of Determination and possibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analysis.
Models in Geography made significant progress. Modern Themes in Geographic thought hike
positivism, pragmatism. functionalism ete work introduced.

Tt T % s m TR T R

wF {999 % =0 T P F Fpieg 54 AR THE F A= F H@6gl # mgen 2| 9% e 9l @ A

YAl F HGW W ST 2| G % Soar o geT G99 W TG =01 o e 8 2 e g e F
ﬁmﬁmmmwwﬁﬂ ‘T’ (qie) weg w1 WA weE UEe g fagE
LAl e B 2T et e e e et e T e T e o e (e 1 e =2 e L - s e 22
AR A= T T 90 TS WA 21 A UF AR  EEE EEE A @ 5 WO # 8, g
AT T 99 T F eI W Fied w1 2| P SH F1 WE-I S6g9 Al 2

TAlE giiet # Evatnematm asem e af 8 5w & oy el Frese A frx 7 dAfvaw
hmq?%qnwm—wﬁwm?m|mm$wrﬂ?m={—m ft 5t 3 forre win
T o s A nm« :f 3@[ ULHM e & E9H eS| T’FTII q= - Hgald WGI?TW‘EHT?JW
T Fyvaman ﬂkamma?ﬁaﬁmmmﬁw=m|=mﬁ%ﬁmquww=?a¢ﬂmtm
T | fates fFameame # 353 3 gie § gaae SR sl 1 g e SE T Ay A,
T s T, UEEE 59 FHAmES, 59 S9W ST g FEhg $iE w=en 5| g
Fifa F A ¥ 39 A o fawm g wioow, B ugln @R dmies Siew sngRE dEes
Ta=m = wEeaqul use] S 0| HEA g W GtaaE 3 s e, auaiceae A et fEyemo
F Ted ¥ OFfcrE misel ° #TH WG g5l HFNE AER 8 SoaEE, STEiraEn S T S
AT AT = FE =

The usefulness of Geography as an Universal Science was demonstrated by

(1) Eratosthenes and Strabo
(2) Hecataeus and Hipparchus
(3) Humboldt and Ritter

(4) Anristotle and Eratosthenes

afgas fasm & =0 § spire 1 swiifan fea fagm gm fag 6y
(1)  gteifedts st =2

(2)  wepfemm s feada

(3  EEese 3 e

(4) 3 3R gteiferds

[Question ID = 397][Question Description = Q97_Geog_SH1_Set1_C]
1. 1 [Option ID = 1585]



2. 2 [Option ID = 1586]
3. 3 [Option ID = 1587]
4. 4 [Option ID = 1588]

3)

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It is built on experiences of successive generations. The history of geography is
basically concerned with the development of human consciousness about the possibilities and
limitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars like Ratzel and Richtofen in Germany. Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship. hormony with nature
led to concepts of Determination and possibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradiegm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analysis.
Models in Geography made significant progress. Modern Themes in Geographic thought hike
positivism, pragmatism. functionalism ete work introduced.
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The concepts of Determinism and positivism emerged as a result of integrated Hinduism by

(1) Greek and Roman
(2) Greek and Arabs

(3) Roman and Arab

{4) German and French

Foaare SR aeraTEre i Fauronsi w1 fasm s vhihd seaga & ufony o7
(1) R R T

2 g s e

(3)  Tm4 37 3"

(4)  FHT 3R wrE



[Question ID = 398][Question Description = Q98_Geog_SH1_Set1_C]

AN wnN -

4)

1 [Option ID = 1589]
2 [Option ID = 1590]
3 [Option ID = 1591]
4 [Option ID = 1592]

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It iz built on experiences of successive generations. The historv of geography is
basically concerned with the development of human consciousness about the possibilities and
limitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars like Ratzel and Richtofen in Germany, Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship. hormony with nature
led to concepts of Determination and pessibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geographyv like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analvsis.
Models in Geography made significant progress. Modern Themes in Geographic thought like
positivism, pragmatism, functionalism etc work introduced.
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Which major development in Geographic studies during the recent period changed the
direction in its growth?

(1) Paradiem (2) System Approach
(3) Quantitative Revolution (4) Models

g O diiferss sremd & a3 O 230 w4 ugE faem 2 faad gad foon aga 47

(1) ufea= @ T gzl
(3)  HEEEE it (4) Hiea

[Question ID = 399][Question Description = Q99_Geog_SH1_Set1_C]
1. 1 [Option ID = 1593]
2. 2 [Option ID = 1594]



3. 3 [Option ID = 1595]
4. 4 [Option ID = 1596]

5)

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It iz built on experiences of successive generations. The historv of geography is
basically concerned with the development of human consciousness about the possibilities and
limitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars like Ratzel and Richtofen in Germany, Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship. hormony with nature
led to concepts of Determination and pessibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geographyv like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analvsis.
Models in Geography made significant progress. Modern Themes in Geographic thought like
positivism, pragmatism, functionalism etc work introduced.
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Which of the following is the recent development in Geographie studies?

(1) Regional geography (2) Astronomy

(3) Determination (4) Positivism

frerfafiem 9 4 arifas serm & 93 9 2e 4 g0den +5 =@ 7497 fasm Faarm ?
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[Question ID = 400][Question Description = Q100_Geog_SH1_Set1_C]
1 [Option ID = 1597]
2 [Option ID = 1598]
3 [Option ID = 1599]
4 [Option ID = 1600]
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Topic:- GP13_A



1) Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases in a city on a particular day. Based on the data

in the table. answer guestion.

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100} (50) {100y (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 5 15 5
Gity 4 10 5 5 15

Nt o o T e L o e e Ll s =2 o = 2 B e ol e e 2 e O el o1 o
faem @ v § A gz W w swfEE i T w0 gwi T 2| anerE d AEE A % OSIER W

R E-Fb 3T Eh::lr':ﬂl:f\:

AT AT | A AP FEATE
A B C D
— (100) | (50 (100) (50)
e 1 30 15 35 10
@t 2 35 10 30 10
&t 3 15 5 15 5
et 4 10 5 5 15

Which city reported highest number of positive cases?
(1) ity 2 (2) City 1
(3) City 4 (4) City 3

(1) =72 (2) 1
(3 T4 (4 =713

[Question ID = 4538][Question Description = Q01_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18152]
2. 2 [Option ID = 18153]
3. 3 [Option ID = 18154]
4. 4 [Option ID = 18155]

2) Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases in a city on a particular day. Based on the data

in the table. answer question.

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) (50
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 5 15 B
Chitv 4 10 5 5 15




Freataigs ae ® 9w i g goF e 8 F T w0 9 R FEE F 9 o e R
e 8 w=r § 4 qiSiza am T sufEE F S F SO T 2 | e H ST e % AEE W

T F I 301'-\31':{:

HAATE FHEAT | HTATA AETATA AT
A B C D
T (100) {50y (100) (50)
=1 30 15 35 10
st 2 35 10 30 10
faf 3 15 5 15 5
et 4 10 5 5 15
What is the percentage of negative cases?
(1) 16.90 2 16.10
(3)  15.66 4 16.67
(1)  16.90 (2) 16.10
(3) 15.66 (4) 16.67

[Question ID = 4539][Question Description = Q02_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18156]
2. 2 [Option ID = 18157]
3. 3 [Option ID = 18158]
4. 4 [Option ID = 18159]

3)  Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases In a city on a particular day. Based on the data

in the table. answer question.

Frataigs Ao W FaR i a0 gos s 8 F T w0 9 R FEE F O ot R
T ® w=r § 4 qiSifza an T sufEE F S F SO T 2 | e H ST e % 9TEE W

T F I En1‘-\u:1':{:

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 5 15 5
City 4 10 5] 5] 15

FETATA FHIATE | HTARA HEATA AT
A B C D
e (100) | (50 (100) (50)
=1 30 15 35 10
i 2 35 10 30 10
A R [ W Y
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What 1s the ratio of positive cases in City 1 and City 37
(1) 9:4 2)
(3) 9:5 (4 11:4

o

@t 1 st fadi 3 9 uifsiea wrw 0 =fEre # A o B Y

(1) 9:4
3 9:5

@ 6:5

(@) 11:4

[Question ID = 4540][Question Description = Q03_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18160]
2. 2 [Option ID = 18161]
3. 3 [Option ID = 18162]
4. 4 [Option ID = 18163]

4)

within bracket and number of positive cases In a city on a particular dav. Based on the data

in the table. answer question.

Consider the following table which contains number of corona test conducted in each hospital

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) (50
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 3 15 5
City 4 10 5] 5] 15

HelEhgs s T =R S (FEH e SR | Ol TS ERE T R FEE F dE s

e § wer § ° qiSieg 9 Tm SHfE S SEE F1 SO T | aneE H e e % AW W

T F I Enf—-\ﬂ':{:

(1) 16
(3 14

AT FETATE | A AT ST
A B C D
—- (100) | (50 (100} (50
=1 30 15 35 10
w2 35 10 30 10
i 3 15 5 15 5
=4 10 5 5 15
What is the percentage of positive cases in City 47
@ 13
4 15
i1 4 9 Sifafea am o =Tt w1 a2y
(2 13

1 16
(3 14

@ 15




[Question ID = 4541][Question Description = Q04_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18164]
2. 2 [Option ID = 18165]
3. 3 [Option ID = 18166]
4. 4 [Option ID = 18167]

5)  Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases in a city on a particular day. Based on the data

in the table. answer question.

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100} (50) (100) (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 5 15 5
City 4 10 5 5 15

Fratatas aia® W 99R HIE0 1900 905 51000 § i 5 FRA F0F & HiEs & Hat S el e
e 8w § 4 g um e s=fEE Fi S F SO T 2 | aerd H SEE e # AN W

SR ::Fb 3T Ehﬂr':ﬂ[f\:

AT FHAT | HTAA HEATA AT
A B C D
ey (100) | (50 (100} (50
=1 30 15 35 10
e 2 35 10 30 10
= 3 15 5 15 5
a4 10 5 ) 15

Which hospital reported maximum number of positive cases?
(1 (2)
(3) 4

Hospital A Hospital D

Hospital B Hospital C

T saE § afasan =fFat =+ St e = Fi i e

(L) AT A (2) g D

(3) A B (4) A C

[Question ID = 4542][Question Description = Q05_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18168]
2. 2 [Option ID = 18169]
3. 3 [Option ID = 18170]
4. 4 [Option ID = 18171]

Topic:- GP13_B

D The level of teaching which demands the use of higher order thinking skills is :

(1) (2)
(3) (4

Memory level teaching Understanding level teaching

Reflective level teaching Creativity level teaching



(1)  ia = FE (2) =g =W faEm
(3)  Tomels w= e (4) TEETEEERAT T T

[Question ID = 4543][Question Description = Q06_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18172]
2. 2 [Option ID = 18173]
3. 3 [Option ID = 18174]
4. 4 [Option ID = 18175]

2 ; : R
) Which of the following are NOT the characteristics of adult learners?

(A) They are matured learners

(B) They can act rationally

(C)  They search for a reasonably stable identity
(D) They can make balanced choice

(E) Often question contemporary values

Chooze the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (A)and (D) only
(3) (C) and (E) only (4) (C)and (D) only

Freferiag 9 = =ib a=es et = e 99 2 7
(&) = iy Toenef o 2
(B) = arieheral § #T4 " F |

(C) = 3 fom ue=m =@rem 7 |

(D) 3 F=iferd == W HE 2

(E) =5yl SHAEEF 9o o U9 330 3 |

Fr= T2 o e § ® weE SuEd IO R = i
(1) = (A) 31 (B) (2) I (A) 1 (D)
(3) A (C) 3R (E) (4) Fa= (C) #ir (D)
[Question ID = 4544][Question Description = Q07_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18176]
2. 2 [Option ID = 18177]

3. 3 [Option ID = 18178]
4. 4 [Option ID = 18179]

3)

Match List I with List IT :
ListI List IT
Factors influencing learning TIlustration
(A) Psychological (' Methods of teaching
(B) Socio-Cultural (I) Faculty relationship
(C) Institution (III) Intelligence
(D) Teaching-learning (IV) Family

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(IV). (C)-(I), (D)-(ID)
2 (A-IV). (B)-(III). (C)-(I). (D)-(ID)



(3) (A (B)-(ID). (C)-(D). (D)-(IV)
@)  (A)-(ID. (B)-(IV). (C)-(ID. (D)-(D

11 % W gE-11 #1 oo i
-1 =hIT
(&) A @ Fre-Tgh
(B) HTHIAF-TTH T (I) HFE-T=
(C) e (IT) st
(D) Toram—a7iams (IV) afEm

F oo o Tl § 6 HE S H I A

(1) (A)-(IIL). (B)-(IV). (C)-(D. (D}-(II)
(2) (A)-(IV)., (B)-(IIL). (C)-(I). (D)-(IT)
(3) (A)-(IT), (B)-(III)., (C)-(D. (D)-(IV)
(4) (A)-(IIT). (B)-(IV), (C)-(ID. (D)-(I)

[Question ID = 4545][Question Description = Q08_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18180]
2. 2 [Option ID = 18181]
3. 3 [Option ID = 18182]
4. 4 [Option ID = 18183]

4)  The type of evaluation which gives feed-back to students as well as teachers 1s :
(1) Placement evaluation (2) Formative evaluation
(3 Summative evaluation (4) Diagnostic evaluation

HedTA 1 T S it va feet w0 o wiagfe 2w
(1) =99 g (2) TEATCHE YEATEA
(3)  FFEETEE G @) It g

[Question ID = 4546][Question Description = Q09_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18184]
2. 2 [Option ID = 18185]
3. 3 [Option ID = 18186]
4. 4 [Option ID = 18187]

3)

Given below are two statements ;

Statement I: The 4 quadrants of SWAYAM are (1) Video lecture (2) specially prepared
reading materials that can be downloaded (3) online discussion forum for
clarifying doubts (4) Time to time assessment by experts.

Statement II: Swayam Prabha i1s a group of 34 DTH channels dencted to telecast high
quality educational programmes on 24 x 7 basis.

In the light of the above statements, choose the correct anawer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

Fret 31 e g e R

F (): 90 (WIH.UAELIE.) F 4 =995 7| (1) 799 =9mEd (2) o =0 @ $3n f
T | T STeEE e o B9 (3) SEeEd Han-Eme mE, v HEE F o (4)
THE-TAE W T g0 s

o (II) : wa9easl 34 S1.71.09, =9 %1 U G9F ® 9 24 x 7 UW W =4 [Ed I9d A
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[Question ID = 4547][Question Description = Q10_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18188]
2. 2 [Option ID = 18189]
3. 3 [Option ID = 18190]
4. 4 [Option ID = 18191]

) The probability of not accepting the null hypothesis when the alternative hypothesis 1a
acceptable is called :

(1) Rejection range (2) Demarcation
(3) Normative incidence (4) Power

TE AFeF TEEE A B, O e & A 7 i TS FEe E

(1) A (2)
(3)  AEHI HAT (4) wifFa

[Question ID = 4548][Question Description = Q11_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18192]
2. 2 [Option ID = 18193]
3. 3 [Option ID = 18194]
4. 4 [Option ID = 18195]

7)
By what name this validity is known for where an assessment of the measurement validity of
a measure that compares it to another measure of the same concept that has been generated
from a different method?
(1) Predictive validity (2) Construct validity

3 Concurrent validity {(4) Convergent validity

7z Jaa1 5@ T I TR 2 T8 A A 99a] 1 AR TR 9] BEE SEer a5 919 o
A1 2 A9 H U gE 9gid ® 2 2l A7
(1)  wwrfEas dua (2) = Ayl
(3)  THEA! A (4) wfqar Fua
[Question ID = 4549][Question Description = Q12_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18196]
2. 2 [Option ID = 18197]

3. 3 [Option ID = 18198]
4. 4 [Option ID = 18199]

8 ; i
) Which of the following are sources of verbal data?

(A)  Traffic signals

(B) Semistructured interviews

() Narrative interviews

(D) Focus groups

(E) Body language

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B, (C). (D) only
(3)  (C). (D). (E) only (4)  (A). (D), (E) only



TG | =iF AT 5 6 JId B Y
Q) FFE-EE
(B)  HACHTEA HIATERT

(C)  fEaoones= Temn

D) FEE TR
(E) iR &

Hr= fau o Tl | @ OE 3 F =9 i

(1) #F== A, B). (©) (2) F== (B). (C). (D)
(3) == (C), D), (B) @) Fa (A), (D). (E)

[Question ID = 4550][Question Description = Q13_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18200]
2. 2 [Option ID = 18201]
3. 3 [Option ID = 18202]
4. 4 [Option ID = 18203]

9)

Given below are two statements :

Statement I: A Systematic review can be described as a ‘replicable and scientific’ process.

Statement II: A transparent review may help us in minimizing personal and other biases.

In the light of the above statements, choose the correct answer from the options given below
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement 1T are false
(3) Statement I is true but Statement 1T is falze

(4) Statement I is false but Statement II is true

i 21 F9 U T E
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[Question ID = 4551][Question Description = Q14_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18204]
2. 2 [Option ID = 18205]
3. 3 [Option ID = 18206]
4. 4 [Option ID = 18207]

10) Match List I with Last IT :
ListI List IT
Variables Characteristic features
(A) Independent (I) Can be used to divide subjects into
specific categories
(B) Dependent (II) Cannot be divided into subparts
(C) Control (ITI) Represents the cause
(D) Discrete (IV) The variable that is affected
Choose the correct answer from the options given below :
(1) (&)-(D), (B)-(I1), (C)-(IID), (D)-(IV)
(2) (A)-(ID), (B)-(I11), (C)-(IV), (D)-(I)
(3) (A)-(I1D), (B)-(IV). (C)-(D), (D)-(1D)
4  (A-IV), B)-(D. (C)-(ID). (D)-(III)
-1 % =y gi-11 = e hife
11 HH=1-1T
& Terfore - famrand
(A) == @ fon 1 fGfw w9 st F fom owEm
T w2
B) Fw AI) =99FT H s TE T FHA A
(C) TH=m (III) Fro-Hrd
D) fafam AV) =% = =1 wHiEE 26

J= foo o foem § ® wE IR w = il

(1)
(2)
(3)
4

(A)-(D. (B)-(ID), (C)-(I1L). (D)-(IV)
(A)-(I). (B)-ID. (C)-(IV). (D)-(D)
(A)-IID). (B)-(IV). (C)-(D), (D)-(L)
(A)-(IV), B)-D). (C)-aT). (D)-(IID)

[Question ID = 4552][Question Description = Q15_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18208]
2. 2 [Option ID = 18209]
3. 3 [Option ID = 18210]
4. 4 [Option ID = 18211]

11)

(1)
(3)

A student greets his teacher with ‘Good Morning”. Here the channel of communication 1s :

The effect {(2) The source
The speech (4) The intent

=12 famnefi w19 weE 1 sifyaeT e AT @ T R | TR TEE A A

(1
(3)

REIE]

AT

(2) =™

(4) W=



[Question ID = 4553][Question Description = Q16_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18212]
2. 2 [Option ID = 18213]
3. 3 [Option ID = 18214]
4. 4 [Option ID = 18215]

12)

The dimensions of classroom communication are :
(A)  Level of ohacurity

(B) Level of Observation

(C)  Level of intrusion

(D)  Intentionality

(E) Normative judgement

Choose the correct answer from the options given below :
Iy (A (B). (C) only (2) (B). (C). (D) only
3y (G (D). (E) only (4) (B). (D). (E) only

el | TEW % A

(A)
(B)
(©)
D)
(E)

FETAT T
arEE o

e fom U famedt B B wE S g

(1)
(3)

Fa5 (A), (B). (O) (@) == (B). (0), (D)
e (C), (D), (E) (4) Fa= (B). (D). (E)

[Question ID = 4554][Question Description = Q17_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18216]
2. 2 [Option ID = 18217]
3. 3 [Option ID = 18218]
4. 4 [Option ID = 18219]

13)

Given below are two statements :

Statement I: Communication is viewed as one of the social factors that influence the
society including educational institutions.

Statement II: Communication does not help develop. maintain and change cultural settings
of any society for that matter.

In the licht of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

() Both Statement I and Statement II are incorrect
3 Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II 1= correct

i 21 e e E
FoF (I):  HAW 37 HETF BRI B OH UF F FYOF 3@ w # A g9 s s atEe o

TS WIS # |

FoA (ID :  F=w = ot wmre = fam, s 0 oowfos == | 9fadd § oas 76 7 |

I FF *F Ak °, F= e T et 4 9 ged TugeE 3w = e

FE BY

i ey - U Tt Ak, S SR - A



L L Skt e e LS LR LA |
(2) A I I3 7eE 2 |

(3)  wy LEE 2, o e [ 2 )
@y = I 7, =i R I EE 2

[Question ID = 4555][Question Description = Q18_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18220]
2. 2 [Option ID = 18221]
3. 3 [Option ID = 18222]
4. 4 [Option ID = 18223]

14) _— _—
The sequence of atages of active listening 1= :

(A) Understanding

(B) Remembering

(C)  Responding

(D) Receiving

(E) Evaluating

Choose the correct anawer from the options given below :

(L) (A (B). (C), (E). D) (2) (C). (A). (D). (B). (E)
3 (D) @A E). ®B).(© @ (B). (©), (E). D). &V

e

(A) =

B) TEw

(G T

(D)  HAWEW

(B) TeaA

I 22 T e 8§ gE I W 99 S

(1) (A B (), (E). (D) (2) (O). (A). (D). (B), (E)
(3) (D). (A). (E), (B). (C) 4y (B). (C). (E). (D). (v

[Question ID = 4556][Question Description = Q19_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18224]
2. 2 [Option ID = 18225]
3. 3 [Option ID = 18226]
4. 4 [Option ID = 18227]

15)  Mateh List T with List I -

ListI List IT
Types of speech Objective
(A) After dinner speech (I) To motivate or persuade
(B) Academic speech (II) To impress
(C) Marketing speech (III) To amuse not necessarily informative
(D) Political speech (IV) Toinform

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(IV). (CO)-(ID. (D)D)
2  (A-(IV). (B)-(I). (C)-(ID), (D)-L)
(3) (@10, (B)-a1I), (C)-IV), (D)-(D
@ (A)-ID. (B)-(IV). (C)-(D. (D)-I)

T % =y 1L % e Hifaw
i THIT
(A) = wiem = vy fear @ g (@)  wfaufe w0 o o e
(B) eafors wrm @D) A
(C) Tauvm =m § Faiga W (D) BANSA AT T gees g1 SAEyaT

r_r %]



(D) I];:h ‘_1\"3- qram (]_"\[l‘) pji'hﬁm
4 53 o famwedt 5 @ wE 3o W 999 Hiia

1) (AMID. (B)-OV). (C)-aD). (D)-()
2 (A)-av), B)-(D),. (C)-(I1I). (D)-(ID)
3y (A-D. B)-II). (C)-IV). D)D)
4 (A-IID. (B)-OV). (C)-(I). (D)-AI)

[Question ID = 4557][Question Description = Q20_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18228]
2. 2 [Option ID = 18229]
3. 3 [Option ID = 18230]
4. 4 [Option ID = 18231]

16)  The least number of five digits which is exactly divisible by 12, 15 and 18 is :
(1 10020 (2) 10050
(3 10060 (4 10080

Ui s 1 A S S 12, 15 9 18 § ot fasma B
1) 10020 @ 10050
(3) 10060 (4) 10080

[Question ID = 4558][Question Description = Q21_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18232]
2. 2 [Option ID = 18233]
3. 3 [Option ID = 18234]
4. 4 [Option ID = 18235]

17
) Gopal can do a piece of work in 3 dayvs while Ravi can do the same work in 4 dayvs. The wage

for the full work is Rs. 3500/-. If they both work together to complete the work then find the
earnings of Ravi?

(1) 1300 @ 1500
(3 1600 (4) 1650

e wE w3 A A w2 oA fa = owm oA 4 B A e o 2ol weow oot e
3500/- 2 | 3R o T fHeiht WY FE I G E A T ] 7 R

(1) 1300 (2) 1500
(3) 1600 4) 1650

[Question ID = 4559][Question Description = Q22_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18236]
2. 2 [Option ID = 18237]
3. 3 [Option ID = 18238]
4. 4 [Option ID = 18239]

18) Given below are two statements :

Statement I: Equilateral triangles and squares are examples of regular polygons.
Statement IT: In isosceles triangles, the angles opposite to the equal sides are equal.
In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4 Statement I is incorrect but Statement IT is correct

Fort (I): e U S, WEeEE e v
F9 (ID) : wafgarg Frgs °, aam ganst & favda 8 g = e

FHIE HUH F S |, A= G e el # O wed suge 9 0 =Ed i



() =EIsAROZAIEEE |
(@  wuE DHE I A Ted 7 |
(3 FuF 15 2, < P27 e 2 |
@  FE 17a 7, wifR Fo T 2

[Question ID = 4560][Question Description = Q23_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18240]
2. 2 [Option ID = 18241]
3. 3 [Option ID = 18242]
4. 4 [Option ID = 18243]

19) . . . . . -
‘What 1s the rate of simple interest in a bank 1f the principal amount of Rs. 5.000.00 becomes
Rs. 10,000.00 in 8 years?
(1) 12.5% (2) 20%
(3) 15% (4 10%

U % ° W0 = i 3 A 2 AR g9 o4 8 99§ 5.000 99 ¥ Fgw 10,000 T 7 AT 2 7
1 12.5% @  20%
(3) 15% 4) 10%

[Question ID = 4561][Question Description = Q24_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18244]
2. 2 [Option ID = 18245]
3. 3 [Option ID = 18246]
4. 4 [Option ID = 18247]

20)  Match List I with List II in order to make correct sentences.
ListI List IT
(A) Fraction equivalent of 128.57% is 9
(nearest) @ B
(B) If the numerator of a fraction 1s an 8
inecreased by 20% and its denominator T
is decreased by 10%, the fraction
becomes % The original fraction is
© 121 is equalto iy 12
T T
(D) %4—% 1s equal to (IV) ;
Choose the correct anawer from the options given below :
1 A-AV), B)-D, (C)-ID). (D)-ILD)
(2) (A)-(IV), (B)-(I1I), (C)-(ID), (D)-(I)
3 (A)-(I1D). (B)-(ID). (C)-(IV), (D)-(T)
(4 (A)-(0). (B)-(IV). (C)-(II). (D)-(I1I)
-1 % T gei-11 = e i
-1 T L
(A) 128.57% =1 fen fom Toge= 2 o 2
T
(B) o T firm =1 #9 20% =@ =0 #Hi an 8
T 7L R 10% =2E J a9 19 %7’”
w1 B | et i 2
(©) 1% F T 2 1) %
2 64 - : 4
=k W o —
(D) 758 : (IV) 7



$9 i o et § © OF I o T i
1) (A-AV), B)-(I), (C)-II). (D)-(ILI)
2 (A)-(TV), (B)-(IID), (C)-(ID), (D)-(T)
(3)  (AID. (B)-dI). (C)-IV), (D)-D
@ (Q-D, B)-IV). (C)-(D). (D)-IID

[Question ID = 4562][Question Description = Q25_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18248]
2. 2 [Option ID = 18249]
3. 3 [Option ID = 18250]
4. 4 [Option ID = 18251]

21 ;
) Given below are two statements :

Statement I: Vyapti (relation of Universal concomitance) expresses the relation between

two individual objects only.

Statement II : Vyapti expresses the relation between the classes of individuals.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II is correct

= = e ffe T E

Fo ([):  =Ted (WA Featddal =1 Ha9) Sad 31 Ui 9wl A5 G6Y w1 SI9gE el | |

Fo (II) 1 =a1ed § =391 % =01 % o7 HeY H ATTTF 5 = 2 |

IRF FUT F A 4, 49 By o e 4 ¥ weg 3w 3w 99 i
(1)  FuF 1A O3 w8 2

@  weE DR IS TeE 2

(3)  wA ITE %, @i e e 2

(4)  FuE 1w 2, A Fe I a2

[Question ID = 4563][Question Description = Q26_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18252]
2. 2 [Option ID = 18253]
3. 3 [Option ID = 18254]
4. 4 [Option ID = 18255]

22) A ceries of terms would be in the order of increasing intension :

(A) When each term in the series (except the first) connotes more attributes than the ones

preceding it.

(B) When each term in the series (except the first) 1= more specific than the one preceding



it.

(C)  When each term in the series (except the first) connotes less attributes than the one
preceding it.

(D)  When each term in the series (except the first) is less specific than the one preceding

it.

Choose the correct answer from the options given below :

(1)  (C)and (D) only (2) (C)only
(3) (A) and (B) only (4) (D)only

(A) 9 JEAT F TAF U2 (YW UF F BoH) T THaAl 921 H I Alyw e = agmes
AR |

(B) 9 YEE F UAF 92 (F9H TE F DH) o Eadl 03 F o ot e wm 2

(C) = =T %1 Ueih 93 (999 93 i SisH) A 74 UE H B e w5 agweid w2 |

(D) & FEen F UeAE U9F (TUH U2 i o) 9@ 1w i ge 9 w8 e w2 )

i 29 7 fawe O wE I o = A
(1) == (C) 3K (D) @) = (0)
(3)  Faw (A) 31 (B) @ Fa= (D)

[Question ID = 4564][Question Description = Q27_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18256]
2. 2 [Option ID = 18257]
3. 3 [Option ID = 18258]
4. 4 [Option ID = 18259]

23) “The great cricketer Sudhir says that Medisulpha soaps are good for health. We therefore
must believe that it must be true indeed.”
Which fallacy is committed in the above argument?
(1) Strawman (2) Appeal te unqualified authority
(3) Appeal to ignorance (4) Slippery slope
“qEm fore faeTsl gen W e 7 6 Atewew WER w=wes F o 999 2 | sEiem 56 °4E o =

7E T Hel '

I T 1 T TR % HO-2 (FOeTE) Fid R e 2

() e (FraTED) (2) SAE=EZ =i W FATe &

(3) AT F B A @ el e

[Question ID = 4565][Question Description = Q28_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18260]
2. 2 [Option ID = 18261]
3. 3 [Option ID = 18262]
4. 4 [Option ID = 18263]

24 P
) Given below are two statements :

Statement I In Nvava nphilozophy. subiect matter of looie 1= mainly thoueht and ite verbal



formulation is only a matter of contingency.

Statement II : Verbal formulation of an argument in Nyaya tradition is only for leading the
other to the conclusion in guestion.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement I is correct

A 71 e ffr T E

w94 (I): = 396 0 T 6l 99 @5 qeaa: oun 7 30 sk wiieeh e shael SR
o
T ('!l

FoA (1D : =3 TR 1 TR 7 9 e (R e 9= S F TR e O T f
I TR F AT 4, 9 20 T e 8 9 gee 30 I A 99 i

(1) o s IS &8 2 |

2 FYF I3 I3 o 2

(8)  FF LTF 7, @ F99 7 2 |

(4)  wA 1A 7, @i e [LHE 2 |

[Question ID = 4566][Question Description = Q29_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18264]
2. 2 [Option ID = 18265]
3. 3 [Option ID = 18266]
4. 4 [Option ID = 18267]

23) “Of course you want to buy a Golden pear brand phone. Golden pear phones look good in

one’s hand and all the Bollywood stars can be seen carrying them these days™:

Which fallacy is committed in the above argument?
(1) Red herring

(2) Fallacy of accident

(3) Appeal to foree

(4) Appeal to people (Argumentum ad Populam)

Bt el B T A e | e 1 - 2 e I B e e T B o R B

g AfA e wa sl

Suded I § FH B g A7

(1) = ()

(2) T W weEE (Rl T )
(3 = (o 7 wE)

(4)  FFETE I

[Question ID = 4567][Question Description = Q30_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18268]
2. 2 [Option ID = 18269]
3. 3 [Option ID = 18270]
4. 4 [Option ID = 18271]



26)

CAE stands for :
(D Calculation Arithmetic Equation (2) Calculation Aided Estimate
(3) Computer Aided Engineering (4) Critical Assessment for Energy

0.3, = gaeE 2

(1)  FepewE AUHH TF9H (2) HepeTE UES T
(3)  =FFger Uz sHiHEi (4) Trlewe waEz w1 Tl

[Question ID = 4568][Question Description = Q31_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18272]
2. 2 [Option ID = 18273]
3. 3 [Option ID = 18274]
4. 4 [Option ID = 18275]

27) Given below are two statements :

Statement I: Hardware represents the physical and tangible parts of the computer.

Statement I : Operating system is tailor made software according to user's requirements.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are falze
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1z false but Statement II is true

1 a7 e g o E

T (I):  FFCIeX 1 ET5ae0 38 Wifas vg o fEumare = Fefis w2 |

o (D) : T S S92 % STET AT ey e e SR R |

YL FUA F A 4, A9 5 T EEe 8 9 wE I H 9 i
(1) FRIsAxIIz 538 |
(2) e [ 2 o3 & |
(3) =y [E 2, vt w9 I 9gea 2
(4) 9 [ 3Ec 7, =it wue I8 2
[Question ID = 4569][Question Description = Q32_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18276]
2. 2 [Option ID = 18277]

3. 3 [Option ID = 18278]
4. 4 [Option ID = 18279]

28) Kritika 1s making her sclence project presentation on ‘Friction' using a presentation

software. She wants to add the phrase ‘Presentation on Friction at the bottom of each page.
Which option should she use?

(1) Project (2) Bullets
(3) Header {(4) Footer

T WSSV WREAAT 1 OTAN HA g Fiae AT A -aiE S -Tegta e T R | FE S oo
T8 % A= min W wHE 7 e Sea =l 2 | 30 G e 1 vEe we =t

(1) TS () (2 THzE

b,



(3) == 4 T
[Question ID = 4570][Question Description = Q33_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18280]
2. 2 [Option ID = 18281]

3. 3 [Option ID = 18282]
4. 4 [Option ID = 18283]

29) .
Given below are two statements :

Statement I: Data base refers to a collection of logically related data.

Statement II : The purpose of assembly language is to bring man and computer together.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is falze

(4 Statement I is false but Statement I is true
= 2 e R T

Fo (I): T2, TR B9 O OhEg Tad O geEeed ©

F9 (1) :  THTSIA! 991 1 3279 A 311 FHEA T O A # |
I HUA H AF 4, F9 B 1 fawen O wd 39 #0591 Hiau
(1) w9 I3 [aA e 3 |

(2 =y I ILEA 55T 7 |

(3) w157 2, A FeE I 59T 2 |

(4 w9 I A5 2, e wag L5 7 |

[Question ID = 4571][Question Description = Q34_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18284]
2. 2 [Option ID = 18285]
3. 3 [Option ID = 18286]
4. 4 [Option ID = 18287]

30)
What is the purpose of Block Chain?
(1) To block the network (2) To block the data
(3 To secure the data (4) To interlink the data

A = W 359 T BT

(1) =% =l =90 F (2) =2 F =F FAT
(3) == W HEEE F (4) =2 F TAE FAT

[Question ID = 4572][Question Description = Q35_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18288]
2. 2 [Option ID = 18289]
3. 3 [Option ID = 18290]
4. 4 [Option ID = 18291]

31)

(Hven below are two etatemeanta -



Statement I: Aquatic weeds are fast growing weeds which can attain very high
productivities when cultivated on nutrient rich waste water such as domestic

sewage.

Statement II: Water hyacinth. salvinia and duck weed are some examples of aquatic

weeds.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I i= false but Statement II is true
=t 31 o fgw o E
Fo (I): T -T99R o @ 95 9 9TE-9 2 7 9gd TS Seahdl U Al 5 9 36 O
Aed H W g0 AU F A e Bed W STE A |

Fo (ID) : = entay, Afeaten 1 s, 709 @-T9an & 55 5500 7 |

THTE FUA F ATE 4, A B 0 EEeT 9 ¥ HE1 I W 95 i
(1) A 1R [ 2H 5 2 |
(2 w1 I 2A ome 2 |

(3) w9 1ad 2, wifts 599 IL g 2 |

Tk

4) FEIxEEE s sE a2

[Question ID = 4573][Question Description = Q36_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18292]
2. 2 [Option ID = 18293]
3. 3 [Option ID = 18294]
4. 4 [Option ID = 18295]

32)

Match List T with List IT :
ListI List IT
E-Waste Components Their uses
(A) Mercury (I) Printed Circuit Board
(B) Poly Chlorinated Biphenyls (PCB) (IT) Insulation
(C) Brominatede Flame Retardants (IIT) Flat Screen monitors
(D) Poly Vinyl Chloride (PVC) (IV) Capacitors and Transformers

Choose the correct answer from the options given below :

1O (A-D. (B)-IID. (C)-(IV). (D)-(ID)
2y (A)-D. (B)-(ID), (C)-(ID), (D)-(IV)



(3)  (A-D. (B)-(IV). (C)-1I). (D)-(D)
4 (A)-D. (B)-(IV), (C)-(I), (D)-(ID)

7.1 % w1 w11 1 fer Aif
I 1T
(A) == (aE) @ Tos =iz =i
B) it TS A wAEew () an Igeee
(©) wifFZs W s (IIl) = =fE g
D) wich famee aetsee () aQV) Fifted vz zEe

+= 22 T et @ | wE T o = i

1 (A-D, (B)-IID), (C)-(IV), (D)D)
@  @-D. B-UD. (O)-1ID). (D)-(IV)
(3)  (A-ID. (B)-(IV), (C)-(1). (D)-(0)
@  (A-IID. (B)-IV). (C)-(I). (D)-)

[Question ID = 4574][Question Description = Q37_GP_29NOV_S1_SHAAN]
1 [Option ID = 18296]
2 [Option ID = 18297]
3 [Option ID = 18298]
4 [Option ID = 18299]

A WN -

33)  India’s share of nuclear energy in the electricity generation i1s approximately

1)  0.5% @ 3%
3 10% 4) 15%

Trm TeamA |, wfieke == 5 9wA 6 T e 2
(1) 0.3% () 3%
(3) 10% 4 15%

[Question ID = 4575][Question Description = Q38_GP_29NOV_S1_SHAAN]
1 [Option ID = 18300]
2 [Option ID = 18301]
3 [Option ID = 18302]
4 [Option ID = 18303]

A W N -

34)

Match Last I with List IT
ListI List IT
Hazardous substance Major Source
(A) Lead (I Electrical insulation
(B) PCB (Polychlorinated biphenyls) (IT) Plastics industrial uses
(C) Benzene (III) Paint
(D)  Vinyl Chloride (IV) Gasoline

Choose the correct answer from the options given below :
(L) (A-D. (B)-(ID), (C)-(I1I), (D)-(IV)
(2)  (@-D). (B)-AID, (C)-IV), (D)-@)

(3)  (A)-D. (B)-(D). (C)-1ID), D)-IV)
@  (A)-D. (B)-(D. (C)-IV). (D)-(I)

-1 % e ghi-11 =1 fae Hifw



L

THI-I =11

@ = @ FrEdE e

B) g (T =i aE e AD) w=fEerm Tsfeeas s
(C) == 1) =

D) frmEa =hEs @AV) Ee

Hr fo o e 9 | w39 wEe i
1 A-D. (B)-AD), (O)-1ID), (D)-(IV)
(2) (A)-(II). (B)-(III). (C)(IV). (D)D)
(3  (A)-ID. (B)-D. (C)-(ID), (D)-IV)
@ (A)-D. (B)-D. (C)-AV), (D)-(ID)

[Question ID = 4576][Question Description = Q39_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18304]
2. 2 [Option ID = 18305]
3. 3 [Option ID = 18306]
4. 4 [Option ID = 18307]

35 ; ; ; ;
) Which of the following are true about International Solar Alliance (ISA)?

(A) Its Head Quarter is in Washington DC

(B) It is a joint initiative of France and India

(C)  Most of the participating countries are in southern hemisphere
(D) There are 121 signatory countries

(E)  Mostly sunshine countries are participants in this

Choose the correct answer from the options given below ;
(1) (A). (B). (D) and (E) only (2) (B). (D) and (E) only
(3 (A (B).(C)only (4 (B). (C), (D) and (E) only

Fidlr i wi (snd, we,u) % oan § Fretea § 9 e e 27
(A T gEEeE A 3L § 2

(B) T WA TF W 1 5 I0FA 7 |

(C) W = a1l AfTRat 2o =il mend J 3 |

(D) FEET A 2w 121 F |

(Ey =it g4 1 Tivefi 9 dia 2w gad wwiige 2

= 2o o fawedt 8 1 wE I W = i
(1) #=a (A). (B). (D) 1 (E) @) == (B). (D) 5% (E)

(3)  =Ew (A). (B) @ (C) (4) F= (B). (C). (D) N (E)



[Question ID = 4577][Question Description = Q40_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18308]
2. 2 [Option ID = 18309]
3. 3 [Option ID = 18310]
4. 4 [Option ID = 18311]

36 : : A :
) Given below are two statements : One 18 labelled as Assertion (A) and the other 12 labelled as
Reason (R) :
Assertion (A) : Research in the field of sciences require more fund than that in the field of
social sciences and humanities.
Reasons (R) : Only 1n economically rich countries research in sciences of high quality 1s

possible.

In the light of the above statements, choose the most appropriate answer from the options

given bhelow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) (A) is correct but (R) 1s not correct

(4y (A) 1= not correct but (R) is correct
fra 31 weE 2w e 2 o O v w0 s (A) 3R 5 B o (R) Fa T2

AR (A) : HEtaeRl 3wt fosm = & Fi gen 4 faeE % a9 § WY =g At ea-T

% (R) : Fae ANGF =9 § To9F 290 5 2 95 3 3= oE 3l arh g #

UG HU T ATATE § Are 210 T fEeeTl 3§ UeE 3ugT 3T o = i

D (A) R ®) 3 = 2 SR R), (A) F T = 2

2) (&) 3 R) I T E A (R), (A) F TE = @ R
@) (A 2@ R TR

@ (YT FE 2 A (R) T 2

[Question ID = 4578][Question Description = Q41_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18312]
2. 2 [Option ID = 18313]
3. 3 [Option ID = 18314]
4. 4 [Option ID = 18315]

37) Given below are two statements :

Statement I: Purpose of doing research 1s to make fundamental contribution in
knowledge.

Statement II : Indian higher education institutions are making fundamental contributions
in very large area of knowledge by publishing a number of research articles.

In the light of the above statements, choose the most appropriate answer from the options
given below :

1% f 5 T E SR TR AR ng Gt S S o e i e O BRSNS PR 1 S e s LA S S



(2)
(3)
4)

A e T T e L e T e e T e e Ry iy - e Ly el

Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect

Statement I is incorrect but Statement II is correct

Foe (I): WG FA 1 F29E T O geryd TEE e E |

o (ID) : WG =i 359 {95 5590 sga 91 AG-1@i % g F 6 99 S5 4 geYd aEE 2 T |

IYIFT FYF F HATAE H, A o 0 faweal § E we U 39 0 = it ;

(1
(2)
(3)
(€]

[Question
1. 1 [Option
2. 2 [Option
3. 3 [Option
4. 4 [Option

38)
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e T 3R I 2 541 7 |
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ID = 4579][Question Description = Q42_GP_29NOV_S1_SHAAN]
ID = 18316]
ID = 18317]
ID = 18318]
ID = 18319]

ich among the following adversely affects the inclusive character of the Institutions of

higher education?

(1)
(2)
(3

(4)

To promote quality of education
To select very competent faculty

To use uniform criterion to select the institutions so that charges of partiality can be
avolded

To provide fund for doing quality research

Fefefiaa 5 o w4 3= foen e ) gl e = Auia =0 8 garEa w5 2 7

(1
(2)
(3)
4

forear =i T = WA
TEd THH TFE T F 99
TENAT % = H U BEE RS T UE 9SE o SAE IR 5 O |

TR T A F T g S w6 |

[Question ID = 4580][Question Description = Q43_GP_29NOV_S1_SHAAN]

1. 1 [Option ID = 18320]

2. 2 [Option ID = 18321]

3. 3 [Option ID = 18322]

4. 4 [Option ID = 18323]

39) ‘ . : :
Which among the following factors promote the quality of education?
(A) Organizing conferences, symposia
(B) Encouraging collaboration of research with the leading universities of the World
(C) By privatising the universities
(D) By creating a system of strong punishment for these faculty who do not do research
(E) Providing e-resources to the faculty and students

Choose the correct answer from the options given below :

(1)

(A). (B). (E) only @) (A). B). (C) only



(3)  (B). (0. (E) only 4} (C). (D), (E) only
Tefefiad @ #9 @ w0 S 4 e # TieEtEd B 8
(A)  ToEE, gftEEiE T AETa w1

(B) Tava & smoft Tavatasmeral % @1 w0 F EIF i aRE o

(C) TEvatEEneE % A % ae |

(D) 1 9NY AE A 3 THE-HGE] $ 0 T 5US % 7= i 19T % G

(E) ©%E-5e TE Tl % 90 e 30 B

= fou v faweT B |/ wE 3w 99 A

(1) == (A). (B). (E) (2)  Fa (A). (B). (O)
3y == (B). (C). (E) (4) === (C), (D). (E)

[Question ID = 4581][Question Description = Q44_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18324]
2. 2 [Option ID = 18325]
3. 3 [Option ID = 18326]
4. 4 [Option ID = 18327]

40) . . .
Match List I with List IT:
ListI List IT
Organisations Disciplinary Domain
(A) ICSSR (I) Philosophy
(B) DST (IT) Social Sciences
(C) ICMR (ITIT) Sciences
(D) ICPR (IV) Medicine
Choose the correct answer from the options given below :
1 (A)-(IV), (B)-(ID), (C)-(D). (D)-(IIL)
(2) (A)-(D). (B)-(IV). (C)-(I1I), (D)-(IL)
(3 (A)-(II). (B)«(I). (C)-(IL). (D)-(IV)
@ (A-dD. (B)-II). (C)-IV), (D)-D
T-1 % =y -1 =1 e it
=11 HHI1T
(A)  =0E.i vE uE A, @ =oH
(B) =tuwm A, 1Ly w=mETTEFE-faEE
(C) . m.am. (I fasm=

(D) = H AR, @V) =R

3



A= 59 U E%edl 0§ Onl 3 999 i

1) (AIV). B)-ID). (C)-(D. (D)-(I1D)
@ (AD. (B)-(IV). (C)-(1I). (D)-(IL)
(3)  (A-ID. (B)-(D). (O)-(D). (D)-(IV)
@ (A-D), B)-IID. (C)-(IV). (D)-1)

[Question ID = 4582][Question Description = Q45_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18328]
2. 2 [Option ID = 18329]
3. 3 [Option ID = 18330]
4. 4 [Option ID = 18331]

Topic:- GP13_C

1)

Read the following passage carefully and answer questions

Let us look at what vou can do to eliminate a destructive habit, whether it is obesity,
habitually being late, profanity. smoking, having a short temper or alcocholism. The first and
foremost thing you must do is to decide that you want to eliminate the habit. That is a
decision you and only you can make. Without this motivation on your part. no person or
procedure will have any significant impact. If someone else “talks yvou into it” the chances are
strong you will perhaps start but the effort will be short lived. Remember. you generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had vou not attempted to quit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly. decide you no longer are
zoing to be a slave to any destructive habit. Decide vou want to have control of your life, that
yvou want to be free, that you want to do things with your life instead of having things done to
your life. It is tougher, much tougher to quit a bad habit. but fortunately the results are fun
and much meore rewarding. Former smokers. aleoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the jov and excitement of shedding
those pounds. giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air, clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten years of their lives, and a lot of iving out of their lives.
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=fFa “'TEF AN 4 A9 T w2 Al 39 A9 h BWE TS 2 6 Heitad o g¥m T g H

AT Ry i w0 91 9 T=E A 2 | T T S 9 R a9 =i o we 9 T8

-
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o 8 S H 76 99 9% 1 599 FH A A 9 0 A= J wgd 5 Fefiad & e & s

The elimination of destructive habits depends upon :

(1) External persuasion (2) Social accpetance

(3) Impersonal reasons (4) Self-resolve
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[Question ID = 4583][Question Description = Q46_GP_29NOV_S1_SHAAN]
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2)

1 [Option ID = 18332]
2 [Option ID = 18333]
3 [Option ID = 18334]
4 [Option ID = 18335]

Read the following passage carefully and answer questions

Let us look at what vou can do to eliminate a destructive habit. whether it is obesity,
habitually being late. profanity. smoking, having a short temper or alecholism. The first and
foremost thing you must do is to decide that you want to eliminate the habit. That is a
decision you and only you can make. Without this motivation on your part. no person or
procedure will have any significant impact. If someone else “talks vou into it” the chances are
strong yvou will perhaps start but the effort will be short lived. Remember. vou generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had wvou not attempted to gquit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly. decide you no longer are
zoing to be a slave to any destructive habit. Decide vou want to have control of your life. that
vou want to be free, that you want to do things with vour life instead of having things done to
vour life. It 1s tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much more rewarding. Former smokers. alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds. giving up the need. and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air. clothes, furniture. among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten vears of their lives. and a lot of living out of their lives.
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The impact of someone else motivating a person to move away from a bad habit is :

(1) Everlasting (2) None

(3) Transient (4) Significant
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[Question ID = 4584][Question Description = Q47_GP_29NOV_S1_SHAAN]
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3)

1 [Option ID = 18336]
2 [Option ID = 18337]
3 [Option ID = 18338]
4 [Option ID = 18339]

Read the following passage carefully and answer questions

Let us look at what vou can do to eliminate a destructive habit. whether it is obesity,
habitually being late, profanity. smoking, having a short temper or alecholism. The first and
foremost thing you must do is to decide that you want to eliminate the habit. That i1s a
decision you and only you can make. Without this motivation on your part. no person or
procedure will have any significant impact. If someone else “talks vou into 1it” the chances are
strong you will perhaps start but the effort will be short lived. Remember. vou generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had vou not attempted to gquit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly. decide you no longer are
zoing to be a slave to any destructive habit. Decide vou want to have control of your life, that
yvou want to be free, that you want to do things with yvour life instead of having things done to
yvour life. It 1s tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much meore rewarding. Former smokers. alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds. giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air. clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten vears of their lives. and a lot of living out of their lives.
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A person who decides to leave a bad habit is (a) :
(1) Successful person (2) Susceptible to pressure form others

3 Role model for others (4) In control of his own life
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[Question ID = 4585][Question Description = Q48_GP_29NOV_S1_SHAAN]
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4)

1 [Option ID = 18340]
2 [Option ID = 18341]
3 [Option ID = 18342]
4 [Option ID = 18343]

Read the following passage carefully and answer questions

Let us look at what vou can do to eliminate a destructive habit., whether it i3 obesity,
habitually being late, profanity. smoking, having a short temper or alecholism. The first and
foremost thing you must do is to decide that you want to eliminate the habit. That is a
decision you and only you can make. Without this motivation on your part. no person or
procedure will have any significant impact. If someone else “talks vou into 1t” the chances are
strong you will perhaps start but the effort will be short lived. Remember. vou generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had you not attempted to quit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly. decide you no longer are
zoing to be a slave to any destructive habit. Decide vou want to have control of yvour life, that
vou want to be free, that vou want to do things with vour life instead of having things done to
your life. It is tougher, much tougher to quit a bad habit. but fortunately the results are fun
and much more rewarding. Former smokers, aleoholics and fat-folks unamimously — and in
glowing terms — give us exhaustive details concerning the jov and excitement of shedding
those pounds. giving up the need. and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air, clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten vears of their lives. and a lot of living out of their lives.
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Fending off bad habits will earn a person :
(A) Self-regpect

(B) Better friends in the society

(C) Satisfaction in life

(D)  New opportunities

Choose the correct option :
(1) (A) and (C) only (2) (B)and (C) only
(3) (C) and (D) only (4) (A) and (D) only
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[Question ID = 4586][Question Description = Q49_GP_29NOV_S1_SHAAN]
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5)

1 [Option ID = 18344]
2 [Option ID = 18345]
3 [Option ID = 18346]
4 [Option ID = 18347]

Read the following paszage carefully and answer questions

Let us look at what vou can do to eliminate a destructive habit, whether it 1s obesity,
habitually being late, profanity. smoking, having a short temper or aleoholism. The first and
foremost thing you must do iz to decide that yvou want to eliminate the habit. That is a
decision you and only you can make. Without this motivation on yvour part. no person or
procedure will have any significant impact. If someone else “talks vou into it” the chances are
strong you will perhaps start but the effort will be short lived. Remember. you generally
don't reach someone else’s goal. Many times vou end up further behind than you would have
been had yvou not attempted to gquit a habit which you were not ready to give up. For
example, welght lost and regained. So first and most importantly. decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life. that
vou want to be free, that you want to do things with yvour life instead of having things done to
vour life. It is tougher, much tougher to quit a bad habit. but fortunately the results are fun
and much more rewarding. Former smokers. alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the jov and excitement of shedding
those pounds, giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air. clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten years of their lives, and a lot of living out of their lives.
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The passage is about :

(1) Unacceptability of destructive habits
(2) Benefits of giving up destructive habits
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(4) Prevalence of bad habits in the society
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[Question ID = 4587][Question Description = Q50_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18348]
2. 2 [Option ID = 18349]
3. 3 [Option ID = 18350]
4. 4 [Option ID = 18351]




